$HEELE (Sales Hotline) : 0379-60697782
13663793011 (Elf15 Wechat)
&£ B (Fax) : 0379-60697786

i 8 Mail) : 1yhgzc@163. com
xX HE(Website) : www. |yhgzc. com

Dttt pE - SEREWIEEXZIEERRKEBE1917=

Office Add: Room 1917, Block B, Yunfeng International, Jianxi District,
Luoyang City, China

T it pE - REWEMRE R X A E

Factory Add: Bearing Professional Park in Yiyang Industrial cluster district,
Luoyang City, China



L}
E4|

> e HbT

RING

T

a Pt CH kL % (TR Sl

LUOYANG HENG GUAN BEARING TECHNOLOGY CO., LTD.

j J-,:.-;f “wisdom”to build the future,

PR R Aok LR G A

we only do high-quality products and professional

¥ service providers!

[B14% 37 7 /4% F 4R / R BUHE Tk &

Slewing bearing / Slewing ring / large thrust ball bearing



LaliE
Company profile

T BHE e b AR R B =], JREVE TSR IR LSRRI
SRR Z 2 E A = —s . R REL
Wit WA A7 B8 B IREsT — 1A ¥ [ml 5 Sk /%% B b
FRER G DS R AR o RFE T 785 BH 22 Wb 70 T 25 b A5 K
B, ArEE T A% FEE MR R
VEGRER R — 264272 TN, I S 3 0 26 77 im0 e 4 S A
TH, MARJE FARIE T 7= 5 iR & A RS

PN T T B A P 4250-9800mm [ [B] 5 57 & /4 4 il K
APl s 2 [l SR . R BUHE Bk R . AEbR S 2L R
SEPE gL, KSREEITEPO. Po. P5. PalUANEEZL, Ay
FhEEAHEDY SR A5 . A X PIRER T A5 = HERAR
TEERY . RUHEBRGEM) . BRI A 4540 HEEIL S 454, K
TIHE IR EER S . P T 2 M TR REYR . [RIT . AR
HEhtk. 2E, @5, Tl \Ee. BH. g8 .
AR MUEHIR KR ARSI . AR 7= s 4 %
U ERRI . £ RS2 A E KX, F2)7 K
FH P B0 B8 [F] FHA T

AFE B DA, BAE R BORAIH. W
JFRFE” BIMERLS; LA &L, AlET. B4, R B
Ikt — DIV T @RSy, XA R S
TN EACRAL BT B AR AR 7=, SR R 7 A
FoR, JIRE PEBE M LR RE RAIR S, DLSRBEL R,
XU HARFE KA R RS B Aw . (EefhR, BT &
Foke, FRATTF SR R P2 A M AR S5 A

Luoyang Hengguan Bearing Technology Co., Ltd. is located in the
beautiful Peony Flower City, known as the “Bearing Town” of China’s
thirteenth ancient capital - Luoyang. Is a professional design, research and
development, production, sales and service in one of the slewing bearing
integrated entity enterprise. Relying on the unique advantages of Luoyang
old brand bearing processing base, the company has gathered a group of
experienced bearing designers and skilled first-line production workers,
together with advanced production and processing equipment and testing
tools, to ensure the quality of products and related services from the root.

Our company mainly produces 50-9800mm diameter slewing bearing
and various high precision slewing bearings, large thrust ball bearings,
non-standard special-shaped bearings and other products, The accuracy
covers P 0, P 6, P 5, P 4 four grades, product types include single row
four-point contact ball structure, cross cylindrical roller structure, three row
cylindrical roller structure. Double row ball structure, double row roller
ball combination structure, thin-wall flange structure, large thrust ball
structure, etc. Products are widely used in new energy, medical, recreation,
automation, lifting, construction, mining, metallurgy, port, textile, shipping,
environmental protection, aerospace, wind power and other fields. The
company’s products are sold all over the country and exported to Europe,
America, Asia and other countries and regions, and have won the approval
and recognition of the vast number of users.

The company has always adhered to the value concept of “people-oriented,
customer-oriented, technological innovation, quality improvement”,
“pragmatic, innovative, united, efficient” enterprise pioneering spirit; The
customer all needs as the center, to implement personalized optimization
design and customized flexible production for different customers to
meet the precise needs of customers. In order to achieve the long-term
development strategic goal of mutual benefit and win-win between
customers and us, we strive to provide customers with high cost-effective
products and services. Heng Guan bearings, “wisdom” to build the future,
we only do high-quality products and professional service providers!




EI<AL,

Enterprise culture

J& =
i
i} i
W AE M-
AR 5% 7K Vs -

T34 v [ 10 Jo b 7 Al 3 2 A0 ot 7 SRR
NRTHELIUERNT 6, AR RSN
A=, 9 563 B8 N 58 4 2 3 IR 55+
Sk, BUEn BlES, @

DANRAS. B2 B HOREH . MR,
PAEAE. BEAT. 28R
RFRMERT EF . BREAREHRS, —&
aiE, ALK

=

Vision: Build up China’s high quality
bearing manufacturer and product
solution  provider;

Mission: To build a platform for employees
to realize their dreams, to provide
customers with products to realize
their values, and to create better and
better services for the world;

Spirit: Pragmatic, Innovative, United and
Efficient.

Values: People-oriented, Customer-oriented,
Technological innovation, Quality
improvement, teamwork, Respect
for employees, Sharing results;

Service commitment: Free pre-sale, in-sale and after-

sale technical advisory services,A
cooperation, lifelong friends!



(O35 SRS BN 2 71—
Types and series of slewing bearings One

(JB/T10471-2004) b [ SR G 5 7 1%
JB/T10471-2004 standard slewing bearing numbering method:

XX X XX XXXX

O @ 6

() g5k (1) The types of products
01- 19 s Fe ke [T 4 S 01-Single row four point contact ball slewing bearing
02- B3k 2B % 57K 02-Double Row Ball slewing bearing
LB HERE XT3l B 30K 11-Single row cross roller slewing bearing
13- = HE BRI T4 A [ 5 30K 13-Three row roller slewing bearing
@ 8075 5% (2) Meshing mode
0- Ttk 2 0-No gear type
1- W T LR IR AL UG 50 e A /N 1-External gear small module
2-WTT BRI R HE A1 W 5 A 2-External gear large module
3-WT T 2 B A U 8 P Wi /MRS 3-Internal gear small module
4T R IFIRE UG5 A W 5 R 4-Internal gear large module
GRENR NEREEIRIE) HAR (3) Diameter of rolling body (steel ball or cylindrical roller) mm
(OFS =L NN FNERES (4) Raceway center diameter
AT 5 F A 25451
The examples of basic models and specifications
01 2 40 1000
gL EHER Raceway center diameter centre

REAELE (mm)  Rolling body diameter (mm)

1877 Meshing mode

ZERY R, The types of products
PRl 28 AU 2R B DL Rl R A A 2 ( Therefore, the specifications of this type are expressed as single row four-
KRAEHD RIFESZAK, AR EAR40mm, F0E 0 R EH point contact ball external gear (large modulus) slewing bearing, steel ball
1£1000mm diameter 40mm, raceway center diameter 1000mm.

LUOYANG-HENGGUAN ¥ PH - 1E e




EHM A MR OAE R (01 2 71)
Single row four point contact ball slewing bearing (01 Series)

ZERIEE . MERE. EHE Structural characteristics, performance and scope of application
PRHEDY 5B fih R X 0] 4 S K ER S R R AL, AR R The single row four-point contact ball slewing bearing is composed of two
R, NERS RYREE I Sk, 8 R RS2 5 m F7 . seat rings. It has compact structure, light weight, and four-point contact

AR IRV 05 o R AIA ML SR IEERAENL, h Y between steel ball and arc raceway. It can bear axial force, radial force and
R E NI TN v 3% o overturning moment at the same time. The construction machinery of rotary

conveyor, welding manipulator, small and medium-sized crane and excavator
can be selected.

Du

De Du
Dn o oL
n—¢ . h Dn n—¢ de
1 1] — ==
= = =4
\ B nl %‘ al o«
L \% - . g/éﬂ* R §/
W f <] 7 i
e ~ 1 i | = 4 o
T 3 e
n-4| = dn ‘
DL |~ oL ‘ Dn
D D D
=) bR RT K RT &8R0T .
ot ] Boundary Mounting hole Structure L '",E g
Bearing type dimensions diameter dimensions Gear parameters -
i i
b ik (ST Fae b Mass
Kti P id MPi D dn | H Du|" Dn R U DL |'h 1 W Ext gear Int gear . kg
Non-gear type External gear type |Internal gear type De de
mm mm mm mm i 7 m Z | mm
010 « 30 * 500 « %% | 011 * 30 * 500 « %% | 013 * 30 * 500 * #* ] ] 5| 630 [123] 365 | 74 | 60 |+0.5]75.8
R 20 chp B B A /M ’
012~ 30 - 500 « %% | 014+ 30 - 500 - s | 002 | 398 | 80 | 566 | 4341 20 118} 500 101 4/MIOXL =g —ear 05356 T2 [ 60 [20.5]75. 8
010 * 30 * 560 « %% | 011 30 * 560 « %% | 013 30 * 560 * #* ] ] 5| 690 |135| 425 | 86 | 60 |+0.5] 94
e - on c p ~ A /M ;
012+ 30 < 560 « 3 | 014 30 - 560 « s | 002 | 498 | 80 | 626 14941 20 118} 560 | 10| A/MIOXL = or—37o105 172 [ 60 [70.5] 94
010 « 30 * 630 « %% | 011 30 * 630 « %% | 013 + 30 * 630 « #* ] B ] 6| 774 |126] 492 | 83 | 60 |+0.5] 110
oo | cor | men | o, N J.
012~ 30 - 630 < % | 014+ 30 - 630 - % | (o2 | 928 | 80| 696 | 5641 24 118) 630 | 101 4/MIOXI oo ee T 60 70 [70.5] 110
010+ 30 + 710 » %% | 011 =30+ 710 « %% | 013+ 30« 710 « % | _ - T T |6 852 [139] 570 | 96 |60[+0.5] 120
012 <30 710 « % | 014+ 30 710 « s | O12 | 608 | 80 1 776 6441 24 118) 710 | 101 4/MIOXT [Fem—arem 5079 [ 60 [+0. 5] 120
010 « 40 + 800 « %% | 011 » 40 » 800 « %% | 013 » 40 » 800 * #* 8| 968 [118] 632 | 80 | 80 |+0.5] 256
99¢ o 7 . ‘ M1OY
012+ 40 800 « % | 014 + 40 800 « s | 222 | 678 [ 100 878 7221 30 122) 800 | 101 6/MIOXL I5om—070 100630 [ 64 [ 80 [+0.5] 256
010 » 40 * 900 « %% | 011 » 40 » 900 « %% | 013 » 40 » 900 * #* i 8| 1064 [130] 736 | 93 |80 [+0.5] 240
‘ C 9] . /M10X
012 + 40 = 900 « % | 014 « 40 + 900 « s | 1022 | 778 | 1001 978 | 8221 30 122) 900 | 101 6/MIOXL 5= 070 04T 750 | 74 | 80 [+0.5] 240
010 + 40 » 1000 » %% | 011 » 40 » 1000 » %% | 013 = 40 » 1000 « %% 10| 1190 [116] 820 | 83 |80 |+0.5] 305
_ ‘ o P
012 - 40~ 1000 « % | 014 + 40 - 1000 « x| 122 | 878 | 100 ) 1078 1922/ 36 122} 1000 1101 6/MIOXT om0 156 T 516 | 69 | 80 |+0.5] 305
010 « 40 « 1120 « k| 011 = 40 » 1120 « %% | 013 « 40 « 1120 % | I o 10| 1300 |127] 940 | 95 | 80 |+0.5] 300
012 - 40 + 1120 - % | 014 - 40 - 1120 ~ | (212 | 998 | 100 | 1198 11042} 36 1221 1120 1101 6/MIOXT o a5 706T 936 [ 79 [ 80 [+0.5] 300
010 + 45 » 1250 « % | 011 » 45 » 1250 « %% | 013 » 45 » 1250 « #* | N . ol on o [12] 1452 [118] 1044 | 88 |90 [+0.5] 420
012~ 45+ 1250 « | 014~ 45 + 1250 « s | 12900 | 1110] 110 1 13371163 40 126| 1250 110} 6/MIOX] mor—rre—1961T 1036 75 [90 [+0.5] 420
010 « 45 = 1400 = k| 011 = 45 « 1400 « #% | 013 « 45 + 1400 = %k | _ | [ IO R R [12[ 1608 [131[ 1188 [100]90 [+0.5] 480
012 « 45 « 1400 « % | 014 « 45 + 1400 « s | 240 | 1260| 110 1 14871313} 40 126| 1400 110} 6/MIOXL For=re 10179 1190 | 86 | 90 | 0. 5] 480
010 « 45 = 1600 = k| 011 = 45 = 1600 « #* | 013 « 45+ 1600 = #k | _ | o o |14] 1820 [127] 1386 | 100 ] 90 [+0.5] 550
012 « 45 + 1600 « % | 014 « 45 + 1600 « s | |10 | 1460] 110 1 1687 1513) 45 126| 1600 |10} 8/MIOXL Mmoo 17T 1376 | 87 | 90 [+0.5] 550
010 « 45 = 1800 = k| 011 = 45 = 1800 « #% | 013 « 45 + 1800 = #k | | I N I o |[14] 2016 [141] 1568 [ 113]90]+0.5] 610
012 « 45 + 1800 « % | 014 « 45 + 1800 « s | |10 | 1660| 110 1 IB8THIT13) 451261 1800 110} 8/MIOXL Fir=o 0711931 1568 | 99 | 90 [+0.5] 610
010 * 60 + 2000 * %% | 011 » 60 * 2000 « #* | 013 = 60 * 2000 « #* B 16 2272 [139] 1728 |109|120]+0.5]1100
, ol ol o armox
012+ 60 + 2000 « #% | 014 « 60 + 2000 « x| 2170 | 1825 | 144 | 2110 [1891] 48 33| 2000 |12} 8/MIOXT 1= 0g e 110571708 [ 97 [120]+0. 51100
010 * 60 * 2240 « %% | 011 * 60 * 2240 * %% | 013 * 60 * 2240 * % _ _ 16| 2496 |153] 1984 | 125]120]+0.5]1250
2065 | 144 | 2 311 48 |33] 224 /MLOXT F— =
012+ 60 + 2240 « % | 014 « 60 + 2240 « o | 218 | 2065 | 144 | 2350 |2131] 48 33| 2240 | 12| 8/MIOXT 1o 20113671980 [ 111 [120]+0. 51250
010 « 60 * 2500 « | 011 * 60 * 2500 « %% | 013 * 60 * 2500 « %% 18| 2772 |151] 2232 | 125 |120]+0. 51400
012 + 60 » 2500 « % | 014 « 60 * 2500 « %+ | 2678 | 2325 | 144 | 2610 |2391| 56 |33| 2500 |12| 8/M10X1 [20] 2780 |136] 2220 | 112 |120]+0.5 1400
011 + 40 » 2500 * 12 18]2769.7|151] — | — |120]+0. 51400
010 « 60 + 2800 * %% | 011 * 60 * 2800 « %+ | 013 » 60 * 2800 « %% B 18| 3078 |168] 2520 | 141 |120]+0.5]1600
90 2625 | 144 | 26 26911 56 (33| ¢ 2| 8/M10) -
012~ 60 « 2800 « % | 014 + 60 + 2800 < s | 200 | 2625 144 1 2910 12691} 56 133| 2800 |12 8/MIOXL 100019515500 1127 [120] 0. 5 [ 1600
010 + 75+ 3150 = | 011« 75+ 3150 3¢ | 0137531650 ¢ | |, 1 1 {0 T T 1 oo [0 e ane 1200 3480 [171] 2820 | 142 [150[+0.5]2800
012« 75 « 3150 « % | 014« 75 « 3150 « s | 000 | 2922 17413286 13014} 56 45| 3150 |12 8/MIOXL o010 115 9516 129 [150] 0. 5] 2800
010 75 * 3550 = | 011« 75+ 3550 « % | 013« 753550 ¢ | | 1 1 {0 T T oean [0l e arnny 1200 3880 [191] 3220 [ 162 [150(+0.5]3200
012 « 75 + 3550 « % | 014 « 75 « 3550 « s | O/ (0 | 3322 174 ] 3686 |3414) 56 145] 3550 |12 8/MIOXL oo 1= aga 1170 3919 [ 147 [150] 0. 5] 3200
010 + 75 + 4000 « 5k | 011 + 75 = 4000 + %k | 013 + 75 = 4000 + sk | | T [ 7 "~ ey . 22| 4331 [194] 3652 | 167 |150] +0.5]3600
012 « 75 + 4000 « % | 014 « 75 + 4000 « s | (226 | 3772 1741 4136 13864) 60 145] 4000 | 12\ 10/MIOX1 o 1= a0 T T 3650 | 147 [ 150] 0. 5| 3600
010 + 75 + 4500 « % | 011 * 75 » 4500 « %% | 013 » 75 » 4500 « #* | _ T , , N 22| 4840 |271] 4158 | 190 |150] +0.5]4000
012 « 75 « 4500 « % | 014 « 75 « 4500 « o | 120 | 4272 17414636 14364) 60 145] 4500 |12\ 10/MOXL o1 ebo 17011 4150 | 167 [150] 0. 54000

& FH-1E LUOYANG-HENGGUAN



EHIER R RFOERE (11£71)

Single row cross roller slewing bearing (11 series)
ZERRE . MERE. 1EHVEH

A SORKE A I 3K, R RIEI LR, SR, HE

By WERSEE R, BERCIMBE/N, TR R, AN 1
ZXARS, REFIN RS A Sy, R RECK AR 7 0,

ZHHI TR EZR . TPV ZE T 6 L

military products.

rings. It has compact structure, light weight, high manufacturing

accuracy. Rollers are 1:1 cross-arranged. It can bear axial force,
overturning moment and large radial force at the same time. It is
widely used in lifting transportation, construction machinery and

Structural characteristics, performance and scope of
application

The Single row cross roller slewing bearing is composed of two seat

accuracy, small assembly gap and high requirement for installation

D1 . o
1 di D di
D2 5 i
d
o - oy » - S =
\ = 3 = 13 7
: il NW -
== n3§\?\ %\/ = = ,;fﬂ = \n P\
N |
M\ 7 [ MR
"~y
¢ P
i 03 dt D3
D : D
.
WY bR e Lx & BT %ig 58
Bearing type d?ggggi‘ézg Mmglitall#egt;fﬂe Structure dimensions Gear parameters
4 4 p| d|H m‘ D2 6| D3 ‘ d1 ‘Hl‘ h Egtﬂ?ggtar Ilr’l‘{ﬂ?;ggr b L
‘Ion—gelglr type External gear Internal gear n3 Da 0
: type type mm mm mm mm mdm VA 11311 Z | mm
110+ 25+ 500 « #% | 11125500« | 113+25+500 % | . 1. . 5 [ 630 123 | 365 | 74 | 60 | 0.5 80
[12+ 25500« % | 114+ 25500 %k | 002 | 398 | 15| 566 18] 499 501 65 VMIOXL 6530 T 190 1360 | 62 [ 60 | 0.5 80
110+ 25 + 560 « % | 111+ 25+ 560 « %k | 113 * 25 » 560 * %* 1 51690 135 | 425 | 86 | 60 | +0.5] 90
62 4 7 126 5 56 ) 4/M10X
112+ 25+ 560 « %% | 114+ 25560 < | 002 | 108 | 75| 626 18] 598.5 ) 5615 1 65 VMO =600 T 112 [ 426 | 72 [ 60 [ 0.5 90
110 + 25+ 630 « %k | 111°25°630 %k | 113°25+630 %k | | . | _| . y | |6 | 774 ] 126 | 492 | 83 | 60 | <0.5 | 100
112+ 25630« %% | 114+ 25630 % | o0 | 728 |70 6% 18] 628.5 1 631.5 | 65 AMIOXT =76 704 {488 [ 62 [ 60 | 205 100
110 - 25 710 <%k | 111+25+ 710+ | 11325710 %% | _ | 1. 1. |6 |852] 139 [ 570 | 96 | 60 | +0.5 | 110
112+ 25 710 %% | 114+ 25710 % | D12 | 608 |75 776 18] 708.5 ) TLL5 165 AAOXL =556 T 104 [ 568 | 72 [ 60 | 0.5 ] 110
110 + 28 + 800 « % | 111+ 28 + 800 « %k | 113 * 28 « 800 * %k B 8968 118 | 632 | 80 | 65| 0.5 | 170
2| 67 7 22| 7 ; /
112+ 28 - 800« %% | 114+ 28800 | 22 | 678 |82 878 2| 798.5 ) 80L5 |72 OAIOXL 0970 T 94 [ 630 | 64 [ 65 | 0.5 ] 170
110+ 28 + 900 « % | 111+ 28 +900 <%k | 113 * 28 + 900 * %k _ 18 [1064] 130 | 736 | 93 | 65 | +0.5 ] 190
112+ 28 - 900+ %% | 114+ 28900 - | 022|778 | 82| 918 22| 898.5 | 9015 )72 6/MI10X1 1070] 104 | 730 | 74 | 65 | +0.5 | 190
110+ 28 + 1000 * #% | 111+ 28 « 1000 « % | 113 * 28 * 1000 * #+ 1. B - . 1190] 116 | 820 | 83 | 65 | 0.5 | 210
112+ 28 - 1000 - % | 1000~ 28 - 114 - ¢ | 122|878 | 82 | 1078 22| 998.5 | 10015 | 72 6/MI0XL 1188] 96 | 816 | 69 | 65 | 0.5 | 210
110+ 28 + 1120 + %% | 111+ 28+ [120 + % | 113+ 28 » 1120 « %+ i 1300] 127 | 940 | 95 | 65 | +0.5 | 230
A9 C 2¢ 2¢ 79 S /M \
[17+ 28+ 1120+ | 114~ 28+ 1120« | 1202|998 | 82 | 1198 22) 118 | 122 )72 6/MI0X1 1308] 106 | 936 | 79 | 65 | 0.5 | 230
110 + 32+ 1250 « #% | 111+ 32+ 1250 « #% | 113 * 32 » 1250 « % i 1452] 118 | 1044 88 | 75 | 10.5 | 350
39 91 | 1337 26| 124 252 M10) 2 2 2
11232+ 1250 < % | 114+ 32+ 1250 s | 000 | 1110 91 | 1337 26] 1218 11252 781 6/M101 1456] 101 | 1036 75 | 75 | 10.5 | 350
110 + 32+ 1400 « % | 111+ 32+ 1400 « % | 113+ 32+ 1400 %% | _ . 1608] 131 | 1188|100 75 | +0.5 | 400
5 2% 487 26 39 409 /M10}
112+ 32+ 1400 < % | 114+ 32~ 1400 x| 10| 1260) 91 | 1487 26] 1398 | 102 81 6/M10X1 1610] 112 | 1190 86 | 75 | 0.5 | 400
110 + 32 + 1600 « % | 111+ 32+ 1600 « % | 113+ 32 + 1600 « %% | __ i 1. " o 1820] 127 | 1386|100 75 | +0.5 | 440
112+ 32+ 1600 < %% | 114+ 32+ 1600 « x| L0 |1460] 91 | 1687 26] 1598 11602 81 8/MI0XI 1824] 111 | 1376 87 | 75 | 10.5 | 440
110 + 32+ 1800 « % | 111+ 32« 1800 « % | 113 « 32 « 1800 « #+ o 2016] 141 | 1568 | 113 | 75 | +0.5 | 500
112+ 32+ 1800 - %% | 114+ 32 1800 - | 040 | 1660] 91 | 1887 33| 1798 | 1802 81 AN e To016] 123 [ 1568] 99 | 75 | 0.5 | 500
113+ 45 « 1830 « 11 | 2002 | 1665 | 156 ] 1940 30| 1827 | 1833 |128 6/M10X1 1610 | 135 | 100] 0.5 | 912
110« 40 * 2000 * % | 111+ 40 « 2000 « % | 113 « 40 * 2000 * #+ _ 116 [2272] 139 [ 1728]109] 90 | +0.5 | 900
217 ‘7» ‘7 ‘ - ‘ /M
11240 - 2000 - % | 114+ 40 - 2000 - %+ | 2178 | 1825] 112 2110 33| 1998 20021100 8/MI0XL 2268] 123 | 1728] 97 | 90 | +0.5 | 900
110 + 40 + 2000 « 12 2178|1825 | 112 2110 33] 1991 | 1995 |100 8/M10X1 — [ = === 767
110 « 40 « 2240 « %% | 111+ 40 + 2240 « % | 113 » 40 + 2240 « %k N B i 2196] 153 | 1984|125 90 | +0.5 | 1000
: 2| 235 33| 22: 2242.5 /MLOX
112+ 40+ 2200 - %% | 114+ 40~ 2240 - | 2118|2065 112 2350 33| 2237.5 | 2242.5 1100 8/MI0X1 2502] 136 | 1980 | 111] 90 | +0.5 | 1000
110+ 40 « 2500 « %% | 111+ 40 « 2500 « % | 113 « 40 * 2500 * #+ _ B i 2772] 151 |2232]125] 90 | +0.5 | 876
: 325|112 ¢ 33|2497.5 | 2502.5 /M1OX
11240~ 2500 « % | 114+ 40 - 2500 « x| 2078|2325 112 2610 33| 2497.5 | 2502.5 1100 8/MI0XL 2780 136 | 2220|112 | 90 | +0.5 | 876
110 « 40 » 2800 » %% 111 * 40 * 2800 * %k | 113 * 40 2800 * %* B 18[3078] 168 |2520]141] 90 | 0.5 | 1250
. 26¢ 9| 33|27 280" N
T12 + 40 + 2800 « % [ 114 + 40 = 2800 « | 2010|2625 1121 2910 33|2797.5) 2802.5 1001 12| 8/MIOXL 1 e e 51 19590 127 90 | #0. 5 | 1250
110 + 50 + 3150 » % 111 = 50 = 3150 = 30k | 113 = 50 + 3160 =30k | [ T " S U R o 3480] 171 |2820]142[110] +0.5 | 2150
o B0 30— L 20 3150 | 3576|2922 134 3286 153147, 5| 3152. 5 | 122 8/M10X1 el 5 Tt Mo 0T 02 Torz
110 « 50 * 3550 « #%| 111 * 50 » 3550 « %% | 113 * 50 * 3550 « % |___ | | . o e o ) 3880] 191 |3220]162]110] +0.5 | 2470
o R0 30— LT 20 3550 — x| 3776|3322 | 134 3686 15(3547. 5| 3552. 5 | 122 8/M10X1 o T e M o0 2 Torro
110 + 50 + 4000 + %[ 111« 50 + 4000 = #% [ 113 + 50 + 4000 « | [ T "1~ . FIVV PR 1334] 194 [3652]167 | 110] +0.5 | 2800
112 < 50 - 4000 « % | 114 - 50 - 4000 - x| 220 |3772| 134] 4136 153997, 5] 4002.5 | 122112 | TO/MVOXI 1o e 5171 3650 147 [ 110] +0. 5 | 2800
110 * 50 + 4500 * %] 111 * 50 * 4500 « % | 113 * 50 * 4500 « %% ___ ., } 1940] 217 |[4158]190]110] +0.5 | 3100
A47¢ 4979 34| 46° Vi 44 A D 99 /M
112+ 50 + 4500 + o | 114 + 50 « 4500 « ] 20| 1272 134] 4636 10| 1497 5] 4502. 5 | 122) 12 | TOAMOXT 155T4850[ 101 (415011671101 0.5 13100

LUOYANG-HENGGUAN

PR




XXHEK IO > (O2 271

Double row ball slewing bearing(02 series)
ZERRR . VERE. 1E VG

XHEBR 2 ] 5 SR BT = B, A BRFITR) 5 B m) B 4%
HEA LMRIE, R4 RoL, 28 7 BT PHEE A
[ A ER . X AT R AR # 77 (6, bR B 9GRE 7K
B NT75 . BEZARSZARKI Sl e ) AU k. =12
1] 3 KT 0. 1A A Bl i) g IR R T ZRURF AR BT o RUHEER
[ e SRl Ta) L AR pi) RO BRI, G5SR4
G TERBEFEU BRI SRE, R RENE

PENHUM L

Structural characteristics, performance and scope of
application

The double row ball slewing bearing has three seat rings. The steel balls and

isolators can be directly arranged into the upper and lower raceways. According

to the stress conditions, the upper and lower rows of steel balls with different

diameters are arranged. This kind of open assembly is very convenient. The

bearing angle of the upper and lower arc raceway is 75 degrees. It can bear a

great deal of axial force and overturning moment. When the radial force is greater

than 0. 1 times the axial force, the raceway must be specially designed. The axial

and radial dimensions of the double row ball slewing bearing are relatively large

and the structure is fastened. It is especially suitable for handling tower cranes,

truck cranes and other loading machines that require medium or above diameters.

military products.
] D
D D3
D1
0
d1 nf_ C
——= — = ,/ / ,
n3 % —+ 2 B n3
+
=] o d 1_17 ol
02 , b
D3
Ca
5 | 2. 9k K RT & Ui
Bearing type d?ﬁgﬁf‘féﬁg MOL:initalﬂ?egtﬁhrOIG Structure dimensions Gear parameters
ik | MBS [\%‘171'(
- - 2 J i ass
- b ik Kt p| a| m m‘ 2 6| D3 ‘ dl ‘Hl‘ n B M S
Non-gear type External gear Internal gear n n3 m Da i X
type type mm mm mm mm - 7 i Z | mm
020 + 25 + 500 « %% | 021+ 25 + 500 « # | 023+ 25 + 500 « * 523 | 517 | 5 [ 645 [126]355 | 72| 60 |-0.5] 100
022 + 95 + 500 « %% | 024+ 25 + 500 « | 010 | 384 | 1061580 1 420 1 20 | 18 rgey iy 96 | 26 | AMIOXT e 05T 08 159 | 60 [00.5] 100
020 « 25 + 560 « %% | 021 « 25+ 560 « #% | 023 + 25 + 560 « ¥ | . T 583 | 577 [ 5 [ 705 |133] 4158160 |0.5] 115
, o |- .
022+ 25 + 560 « %% | 024+ 25 + 560 « we | 010 | 444 | 106/ 640 ) 480 1 20 | I8 ey 96 | 26 | AMIOKL e e 08 Te9 [ 60 [#0.5] 116
020 = 25 + 630 % | 021+ 25+ 630 < | 02325630 =% | - |~ | i | oo | oo | 663 | 647 | o | or | jwions L6 | 792 [120]480 | 81| 60 [#0.5] 130
022 + 25+ 630 < | 024+ 25+ 630 < | 10 | O14 | 106 710 350 1 24118 ey egy 1 96 | 26 | AAMIOKL e or g6 472 [ 60 | 60 [ #0.5] 130
020 + 25 + 710 « %% | 021+ 25+ 710« # | 023+ 25 + 710 « % _ , 733 | 721 [ 6 [ 864 [141]558 | 94 | 60 [0.5] 140
022+ 95 710 %% | 024+ 25+ 710 | 020 | 994 | 106 7901 630 | 24 | 18 o0y —aeqy— 96 | 26 | AMIOXL g 051 550 T70 [ 60 |70.5] 140
020 + 30 + 800 + %% | 021+ 30+ 800+ | 023+ 30 - 800 = %% | - | ( T s | s [ 8 | 984 [120] 61678 |80 [~0.5] 200
4 4 2 9 ML03
022+ 30 < 800 « %% | 024+ 30 - 800 « e | 02 | 608 | 124 | 898 ) 702 130 ) 22 Mgy 1) 29 BANOKL a0 610 62 [ 80 [+0.5] 200
020 < 30+ 900 %% | 02130 - 900 < | 02330900 <+ | | oo | . T T om | 922 ‘ "8 | 1088 [133] 712 90 | 80 |+0.5] 250
022 + 30 < 900 < | 024+ 30 < 900 < | [0A2| 788 | 124 998 ) 802 1 30 ) 22 e ery{ 114] 29 | 6AMOXL 35711000 T06 [ 710 | 72 | 80 [ #0.5] 250
020 + 30 + 1000 « %] 021 + 30 + 1000 « % | 023 « 30 « 1000 « _ 1028 | 1022 10 | 1200 |117]810] 82 | 80 |+0.5] 300
421 8¢ 4 ¢ 0 4 /M10X
022 + 30 = 1000 <+ | 024 - 30 - 1000 - | | [12| 898 | 124 J1098] 902 | 36 | 22 Mragey g7y | 14| 29 | OMIOKL Mo 000 o7 [ 792 | 67 [ 80 [+0.5] 300
020 + 30 + 1120 « %] 021 30 « 1120 « %% | 023 + 30 « 1120 « #* 1148 | 1142 10 [ 1320 [129] 920 | 93 [ 80 [+0.5] 340
022+ 30+ 1120 « % | 024 + 30 + 1120 « s | [ 202| 978 | 124 J1218] 1022 136 | 22 gaas gy | 114) 29 | OAOXL 0 raon 07 To12 [ 77 [ 80 [0.5] 340
020 + 40 + 1250 « %] 021 + 40 = 1250 « & | 023« 40« 1250 « ¢ | i - 1286 | 1282 [ 12 [ 1500 [122]1008] 85 | 90 |=0.5] 580
s 7 27, 96 | 40 | ¢ 20 M
022+ 40 + 1250 « % | 024 + 40 + 1250 s | [ 126| 1074 | 160 | 1374 1126 1 40 | 26 7 ras oy 190) 39 | 6AHOXL e roe 001008 [ 73 [ 90 |20, 5] 580
020 - 40 + 1400 = %] 021 + 40+ 1400+ o | 023 = 40 = 1400 = %% | | o | .1 .| || 1436 | 1432 , 12 | 1644 [ 134]1152] 97 | 90 |+0.5] 650
022 + 40 + 1400 + o | 024+ 40+ 1400 < | 1276 | 1224 160 J1524) 1272 ) 401 26 [yt ieay | 190) 39 | OMON M4 1650 [115 1148 83 | 90 [+0.5] 650
020 « 40 + 1600 « %] 021 40 1600 « %% | 023 « 40 « 1600 « # | _ 1636 | 1632 14 | 1848 [129]1344] 97 | 90 |70.5] 750
76| 1424 76 | 45 : /M10X 5
022 < 40 = 1600 <+ | 024 - 40 - 1600 - | /10| 1424 160 J1724] 1476 1 45| 26 sy rimeay | 10| %9 | 8/MIOKL 716856 [113[1344] 85 [ 90 [+0.5] 750
020 < 40 < 1800 « ##] 021 10 + 1800 « % | 023 + 40+ 1800 < | | .~ | 1 1836 | 1832 {14 | 2058 | 144|1540] 111] 90 |=0.5] 820
Q7 )/ 9/ P 30 /M
022 + 40 + 1800 « % | 024 + 40 + 1800 « s | 1010|1624 | 160 119241 1676 1 45 | 26 mrzeeeyze s 10| 39 | 8AOXL =096 T15361 97 | 90 170, 5 520
020 + 50 + 2000 « %] 021+ 50 = 2000 « % | 023 « 50 « 2000 « % | . | ‘ [ 2038 | 2032 , 16 | 2304 | 1411696 107] 120 |+0.5] 1150
022 < 50 = 2000 = %% | 024 + 50 + 2000 x| 2210 | 1785 | 190 |2149] 1851 | 48 | 33 ey Trroegy | 78| 47 | 8/MIOXL Mg 15304 [ 125 [1692] 95 [ 120 [70.5] 1150
020 + 50 + 2210 « %] 021 + 50 + 2240 « | 023 + 50 + 2240 %k | | 2278 | 2212 116 | 2544 | 156]1936]122] 120|20.5] 1500
022 + 50 « 2240 « %% | 024 = 50 + 2240 x| 2100 | 2025 | 190 12389) 2091 1 48 | 33 Fronner T (on0gy | 178] 47 | BAMIOKL e o556 (139 [1926] 108] 120 [+0.5] 1500
020 < 50 < 2500 + %] 021 50 = 2500 « % | 023 * 50 * 2500 < | .| .- oo Lo 2n 12998 | 2532 |1 | woer |18 | 2804 | 153 [2196] 123|120 70.5] 1500
022 + 50 + 2500 %% | 024 + 50 + 2500 « s | 21 12| 2285 | 190 12649] 2351 1156 | 33 70 s ooy 1178) 47 | SAIOXL 1o T138 [2180] 110 120 |20, 5] 1500
020 + 50 « 2800 « %] 021 + 50 = 2800 « % | 023 « 50 « 2800 « %k || . e8| 2% 18 | 3114 [170]2484]139| 120] +0.5] 1900
022+ 50 = 2800 = % | 024+ 50 + 2800 < x| 010 | 2985 | 190 12049] 2651 | 56 | 33 ey Traregy | 178 | 4T | 8/MIOXL 03130 [ 153 [2480] 125 120 [+0. 5] 1900
020 + 60 « 3150 « %] 021 + 60 « 3150 « % | 023 « 60 « 3150 « - o emes [ 192 [ 1 20 | 3540 [174]2760]139| 150] 0.5 3300
022 + 60 + 3150 « % | 024 + 60 + 3150 « s | ° 20| 2872 | 226 13338] 2062 1 56 | 45 [ oy Trayggy 1214) 96 | BN 1o e 1158 [2750] 126 150 | +0. 5] 3300
020 + 60 « 3550 « %] 021+ 60 = 3550 « # | 023« 60+ 3650 <% | .| oo | o |, - 3598 | 3592 | [ 20 | 3940 |194]3160]159] 150 | 0.5 3700
022 + 60 + 3550 « % | 024 + 60 + 3550 « s | C020| 3272 | 226 |3738] 3362 1 56 | 45 sy ramnoy | 214| 96 | SAOXL 1o T 76 [3168] 145 ] 150 | 20, 53700
020 + 60 « 4000 « ] 021 - 60~ 4000 - % | 023 - 60 - 4000 - #% : . 1048 | 4042 — 20 | 4400 | 197 |3608] 165 ] 150 | +0.5 | 4200
022 + 60 + 4000 + %% | 024 = 60 + 4000 + x| (20| 3722 | 226 |4188) 3812 | 60 | 45 rraamerTraamay|214| 56 | 10MIOXL oo 200 173 [3600] 145 ] 150 [+0. 5] 4200
020 + 60 « 4500 « k] 021+ 60 + 4500 « % | 023 60 4500 « %% | | | - | , 14518 [ 4542 | - 22 | 4884 [219]4114] 188 | 150] 0. 5] 4700
022 + 60 « 4500 < %% | 024 < 60 + 4500 « x| 10| 1222 226 |4688) 4312 1 60 | 45 rrme T ramgy 1214 ] 96 | 1OMIOXL o900 1193 [4100] 165 ] 150 [+0. 5] 4700

W FH-TEEE

LUOYANG-HENGGUAN




—HERIFEOIFERE(1IZE7)

Three row roller slewing bearing (13 series)

ZEtRy AL PERE. EHVEHE

SHERA AR SORE =AN R E, BT R RRE
FEHDIT, A HER A A GBS e A D) 3t A
€ - BENS RN 7K 52 & AP aaer, 2 DU AR 45 44 7= i o
AR IR — B AR RO EBOR, 454
R, FralEH T ERERERMER,
RHEDCRIHL. FAUGRENL . MAEEL. Bk E
Bl N[5 & R KA IS 4 AL ML L .

Structural characteristics, performance and scope of
application

Three row roller slewing bearing have three seat rings, the upper and lower
raceways and the radial raceways are separated, so that the load of each row of
roller can be determined accurately. Being able to bear all kinds of loads at the
same time, it is the largest one of the four structural products with large axial and
radial dimensions and firm structure. It is especially suitable for heavy machinery
requiring larger diameter, such as bucket wheel stacker and reclaimer, wheel
crane, marine crane, port crane, ladle turret and large tonnage truck crane. Heavy
machinery and so on.

| D i D
1 ol D3 D1
nlﬂ ‘ dl D2 d
_ = i 4 —
=1 = =
= Zi
- n3
e 7, o
- n E
71 Z 2
~H | bt ¢ 1 do
2 d il I d
D2
0 D2
D3
b D3

1% AR

LUOYANG-HENGGUAN



1+ AR 1+ N "
0 kLY b | s e WO it 5%
Bearing type sl diamegter Structure dimensions Gear parameters
b ik MBi | b Mﬁﬁ
y y F E ass
kit D d| H Dl‘ D2 [0} D3 ‘ dl | hl ‘ h2 Ext gear | Int gear ke
Non-gear type External gear Internal gear n n3 m D d X
) : type type mm mm mm mm mr?l Z nu% Z | mm
130 + 25 + 500 « ** 131 + 25 + 500 « ** 133 + 25 + 500 « ** ~ 537 526 | 32 | 10 | 2X4/M10X1 5| 665 |130| 335 68 | 80 | +0.5 | 224
— — 634 | 366 | 148 | 598 | 402 | 24| 18 — — - -
132+ 25 + 500 * 134+ 25 + 500 » 474 463 | 32 | 10 | 2X4/M10X1 6 | 666 |108| 336 57 | 80 | 40.5 | 224
130 + 25 + 560 * 131 + 25 + 560 * #* 133 + 25 + 560 * 597 586 | 32 | 10 | 2X4/M10X1 5 725 | 142 395 80 | 80 | +0.5| 240
— — 694 | 426 | 148 | 658 | 462 |24 | 18 = = = = =
132 + 25 + 560 * ** 134 + 25 + 560 * ** 534 523 | 32| 10 | 2X4/M10X1 6 726 | 118 | 396 67 | 80 | +0.5| 240
130 + 25 + 630 » 131 +25 + 630 « 133 +25 + 630 * ~ 667 656 | 32 | 10 | 2X4/M10X1 6 | 810 |[132] 456 77 1 80 | 0.5 | 270
= = 764 | 496 | 148 | 728 | 532 |28 18 = = =
132 +25 ¢ 630 * % 134 + 25 + 630 « % (604) | 593 | 32 | 10 | 2X4/M10X1 8 | 808 98 156 58 | 80 | 0.5 | 270
130 ¢ 25 ¢ 710 » #x 131225+ 710 133425+ 710 . . 47 736 | 32 | 10 | 2X4/M10X1 6 | 88 |145| 534 90 | 80 | +0.5| 300
- - 844 | 576 | 148 | 808 | 612 |28 | 18 - - - — -
132425+ 710 « % 134425+ 710 « % (684) | 673 | 32 | 10 | 2X4/M10X1 8 | 888 |108| 536 68 | 80 | +0.5| 300
130 ¢ 32 + 800 » #x 131+32 - 800 - ** 133 - 32 + 800 « ** 841 830 | 32 | 10 | 2X4/M10X1 8 | 1008 |123 | 592 75 (120 | +0.5 | 500
964 | 636 | 182 | 920 | 680 | 36| 22 - - ——
132+ 32 + 800 * 134+ 32 + 800 » (T70) | 759 | 40 | 10 | 2X4/M10X1 |10 | 1010 | 98 590 60 | 120 +0.5| 500
130 + 32 + 900 « 131 +32+.900 ¢ % 133 +32 +.900 ¢ #x 941 930 | 40 | 10 | 2X4/M10X1 8 | 1104 |135| 688 87 | 120 +0.5| 600
1064 | 736 | 182 | 1020 | 780 |36 | 22 = = = =
132 + 32 + 900 « ** 134 + 32 + 900 « ** (870) | (859) | 40 | 10 | 2X5/M10X1 10 | 1110 | 108 | 690 70 {120 ] 40.5 | 600
130 + 32 + 1000 « % 13132+ 1000 » #x 13332+ 1000 » #x 1041 | 1030 | 40 | 10 | 2X5/M10X1 |10 | 1220 |119| 780 79 [120] 40.5 | 680
1164 | 836 | 182 | 1120 | 880 40| 22 ——— -
132+ 32 1000 * ** 134+ 32 - 1000 - % (970) |(959) | 40 | 10 | 2X5/MIOX1 |12 | 1224 | 99 780 66 | 120 +0.5 | 680
130 ¢ 32 + 1120 « % 131032 ¢ 1120 » #x 133032 0 1120 » #x 1161 | 1150 | 40 | 10 | 2X5/M10X1 |10 | 1340 | 131 | 900 91 | 120 +0.5| 820
1284 | 956 | 182 | 1240 | 1000 |40 | 22 -
132 32+ 1120 » 13432+ 1120 « (1090) | 1079 | 40 | 10 | 2X5/M10X1 | 12| 1344 |109 | 900 76 (120 | 40.5 | 820
130 + 40 + 1250 « 131 40 « 1250 « *x 133 40 + 1250 « *x _ 1300 | 1290 | 50 | 10 | 2X5/M10X1 |12 | 1512 |123| 984 83 | 150 | +0.5 | 1200
= 1445 | 1055 | 220 | 1393 | 1107 | 45| 26 = = =
132 40 + 1250 » #x 134+ 40 + 1250 » #x (1210 | 1200 | 50 | 10 | 2X5/MI10X1 |14 | 1512 |105| 980 71 (150 | +0.5 | 1200
130 - 40 * 1400 + ** 131 +40 » 1400 » #x 133 40 » 1400 ~ ~ ~ 1450 | 1440 | 50 | 10 | 2X5/M10X1 |12| 1668 | 136 | 1140 | 96 |150 | +0.5 | 1300
1595 | 1205 | 220 | 1543 | 1257 | 45| 26 [ =
132 40 + 1400 « %% 134 + 40 + 1400 « %% (1360) | 1350 | 50 | 10 | 2X5/M10X1 | 14| 1666 | 116 | 1134 | 80 |150| +0.5 | 1300
130 - 40 * 1600 * ** 131 +40 + 1600 » #x 133 40 + 1600  #x ~ ~ 1650 | 1640 | 50 | 10 | 2X5/M10X1 |14 | 1876 | 131 | 1330 | 96 |150 | +0.5 | 1520
1795 | 1405 | 220 | 1743 | 1457 (48| 26 — =
132 + 40 + 1600 134 + 40 + 1600 + (1560) | 1550 | 50 | 10 | 2X5/M10OX1 | 16| 1872 | 114 | 1328 | 84 |150| +0.5| 1520
130 - 40 * 1800 - ** 131 + 40 + 1800 « % 133 « 40 * 1800 » #x ~ - 1850 | 1840 | 50 | 10 | 2X5/M10X1 14 2072 | 145 | 1526 | 110 |150| 0.5 | 1750
1995 | 1605 | 220 | 1943 | 1657 [48 | 26 - - - -
132 40 + 1800 + 134 40 + 1800 + 1760 | 1750 | 50 | 10 | 2X5/M10X1 | 16| 2080 | 127 | 1520 | 96 |150 | +0.5 | 1750
131+ 25 + 2000 « 03 2195 | 1816 | 150 | 2127 | 1885 [60 | 33 2041 | 33 | 13 | 5X3/ZG1/4in | 16 | 2267 | 138 - — [105] +0.9 | 1120
131 + 45+ 2000 * 04 2059 | 2055 | 54 | 12 3X6/MLOX1 | 16 | 2304 | 141 | 1696 | 107 | 160 | +0.5 | 2230
130 - 45 + 2000 * ** 131 +45 22000  #x 133+ 452000 « %% | 2221 | 1779 | 231 | 2155 | 1845 |60 | 33 | 2055 | 2033 | 54 | 12 | 2X6/M10X1 | 16| 2304 | 141| 1696 | 107 | 160 | +0.5 | 2400
132+ 45+ 2000 » #x 134 + 45+ 2000 » #x (1967) | 1945 | 54 | 12 | 2X6/M10X1 |18 | 2304 |125| 1692 | 95 |160 | 0.5 | 2400
130 - 45 - 2240 - ** 131+ 45+ 2240 + 133+ 45 + 2240 « ~ 2295 | 2273 | 54 | 12 | 2X6/M10X1 |16 | 2560 | 157 | 1920 | 121|160 +0.5 | 2700
2461 | 2019 | 231 | 2395 | 2085 | 60 | 33 - -
132 ¢ 45+ 2240 + *x 134 + 45 + 2240 + *x (2207) | 2185 | 54 | 12 | 2X6/ML10OX1 | 18| 2556 | 139 | 1926 | 108 | 160 | +0.5 | 2700
131 + 45 + 2500 * 04 2555 | 2561 | 54 | 12 3X8/M10X1 |18 | 2826 | 154 - = | 160 | +0.5 | 2834
130 - 45 + 2500 - ** 131 + 45 + 2500 « %% 133 + 45+ 2500 « %% | 2721 | 2279 | 231 | 2655 | 2345 (72| 33 | 2555 | 2533 | 54 | 12 | 2X8/M10X1 |18 | 2826 | 154 | 2178 | 122|160 | +0.5 | 3000
132 ¢ 45+ 2500  #x 134 + 45+ 2500  #x 2467 | 2445 | 54 | 12 | 2X8/M10X1 |20 | 2820 | 138 | 2180 | 110|160 | +0.5 | 3000
130 - 45 + 2800 - ** 131 + 45+ 2800 » #x 133 ¢ 45+ 2800 » #x 2855 | 2833 | 54 | 12 | 2X8/M1OX1 | 18| 3114 | 170 | 2484 | 139|160 | +0.5 | 3400
132 + 45 + 2800 » #x 134 ¢ 45 + 2800 ~ ~ ~ 2067 | 2745 | 54 | 12 | 2X8/M10X1 |20 | 3120 | 153 | 2480 | 125|160 +0.5 | 3400
3021 | 2579 | 231 | 2955 | 2645 | 72| 33 - - - - -
132 + 45+ 2800 03 2855 | 2833 | 54 | 12 3X8/M10X1 |20 | 3120 | 153 160 | 0.5 | 3031
132 + 45+ 2800 « 12 2855 | 2833 | 54 | 12 3X8/M10X1 |18 | 3114 |170 - — 160 ] +0.5 | 3010
130 + 50 * 3150 - ** 13150 » 3150  #x 133 050 « 3150 » #x 3213 | 3196 | 65 | 12 | 2X8/M10X1 |20 | 3540 | 174 | 2760 | 139 |180| 0.5 | 5000
130 - 50 - 3150 - #* | 132 50 * 3150 * % | 134 ¢ 50 « 3150 « # | 3432 | 2868 | 270 | 3342 | 2958 | 72| 45 | 3104 | 3087 | 65 | 12 | 2X8/M10X1 |22 | 3542 |158| 2750 |126|180|+0.5| 5000
130 * 50 - 3150 - 12K 3103 | 3086 | 50 | 12 | 2X8/M10X1 4900
131+ 30 « 3150 « 12K 337612922 | 182 | 3286|3014 |56 | 45 | 3190 | 3180 | 40 | 10 | 3X8/MI10X1 |20 | 3476 |171 120 +0.5 | 2308
131 + 50 « 3150 « 12K 3214 | 3197 | 50 | 12 | 2X8/ZG1/4in |20 | 3540 | 174 180 | +0.5 | 5404
132 + 50 + 3150 « 12K 3432|2868 | 270 | 3342|2958 |72| 45 | 3214 | 3197 | 50 | 12 | 2X8/ZG1/4in | 22| 3542 | 158 180 +0.5 | 5409
132 « 50 + 3150 « 12K1 3214 | 3197 | 50 | 12 | 3X8/M10X1 |20| 3536 |174 195(+0.5 | 5385
133+ 50 « 3150 « 11K 3103 | 3086 | 50 | 12 | 2X8/M10X1 |20 2760. 54| 139 | 180 +0.5 | 5174
133 +50 « 3150 « 12K | 3432 | 2868 | 270 | 3342 | 2958 |60 | 39 | 3103 | 3086 | 50 | 12 | 2X8/M10X1 |20 2760. 54| 139 | 180 +0.5 | 5174
133 « 50 « 3150 « 12K1 3103 | 3086 | 50 | 12 | 2X8/M10X1 |18 2754. 44| 154 | 180 +0.5 | 5174
134 ¢ 50 « 3150 « 11K | 3432 | 2868 | 270 | 3342 | 2958 | 72| 45 | 3103 | 3086 | 50 | 12 | 2X6/ZG1/4in |22 2758. 66| 126 | 180 +0.5 | 5104
130 - 50 * 3550 - %% | 131 50 « 3550 « ** | 133 « 50 « 3550 * *x 3613 | 3596 | 65 | 12 | 2X8/M10X1 |20 | 3940 |[194| 3160 | 159 |180|+0.5| 5600
132 + 50 + 3550 « #k | 134 + 50 * 3550 ¢ ** . 3504 | 3487 | 65 | 12 | 2X8/M10X1 |22| 3938 |176| 3146 | 144|180 +0.5| 5600
= = = 3832|3268 | 270 | 3742|3358 | 72| 45 = = =
132 + 50 * 3550 + 03K 3613 | 3596 | 65 | 12 | 3X8/M10X1 |22]3933.6]176 1801 +0.5 | 4960
132 + 50 « 3550 + 12 3613 | 3596 | 65 | 12 | 3X8/M10X1 |22| 3938 |176 180 +0.5| 5318
130 - 50 - 4000 - ** | 131 + 50 « 4000 » % | 133 « 50 » 4000 « s 4063 | 4046 | 65 | 12 | 2X8/M10X1 |22| 4400 |197| 3608 | 165|180 +0.5 | 6400
132 +50 « 4000 « %% | 134+ 50 « 4000 « ** | 4282 | 3718 | 270 | 4192|3808 |80 | 45 | 3954 | 3937 | 65 | 12 | 2X8/MI0X1 |25| 4400 |173| 3600 | 145|180 +0.5| 6400
131 + 50 * 4000 « 04K 1063 | 4046 | 65 | 12 | 2X8/M10X1 |22 | 4400 |197 180 [ +0.5 | 6377
132 + 50 = 4000 + 12 4282 | 3718 | 270 {4192 3908 |80 | 45 | 4063 | 4046 | 65 | 12 | 3X8/M10X1 |25| 4400 |173 180 +0.5 | 6377
130 * 50 -+ 4500 - 40 | 131 * 50 * 4500 » %% | 133 « 50 * 4500 © ** 4563 | 4546 | 65 | 12 | 2X8/M10X1 |22| 4906 |220| 4114 |188|185|+0.5| 6942
132 ¢ 50 « 4500 « %% | 134 « 50 « 4500 * *x . 4454 | 4437 | 65 | 12 | 2X8/M10X1 |25| 4900 |193| 4100 | 165 |185|+0.5
478214218 | 270 |4692 4308 80| 45 = = = =
131 + 50 « 4500 + 04 4565 | 4546 | 60 | 12 | 3X8/M10X1 |20| 4880 |242 185]+0.5 | 7250
132 + 50 « 4500 + 04 4565 | 4546 | 60 | 12 |2X10/M14X1.5|25| 4895 | 193 185]+0.5| 7333
131 + 60 « 5000 * 04 5320 | 4670 | 320 | 5220 | 4766 45 | 5082 | 5062 | 65 | 18 | 3X8/M10X1 |20 | 5440 |270 220 +0.5| 11752

W FH-fERE

LUOYANG-HENGGUAN




Iﬁliﬁ_iﬁ'iii”ﬂ%’?u:

Types and series of slewing bearings Two

|51 5 S A G 5 T The standard slewing bearing numbering method
X X X XX XXXX X X X X XX XXXX X
@ @ G @ 6 (6 @O @ G W 6 )
(1) [\ s R ACSH (1) Slewing bearing code H
eS| (2) Product category
T2 XA J cross roller type
S*jﬂiiﬁf? DY s b R = S single row four point contact ball type
Q) f&3)77 =0 (3) Meshing mode
B*?EJIJAILJ::—EQ No gear
W-4k ik =X External gear
N-}4 Jlil:ﬁ/ . ) Internal gear
W RAEEAE: RS B Amn (4) Rolling body diameter:Steel ball or cylindrical roller mm
() /’ﬁlﬁ G E A mm (5) Raceway center diameter
6) KHALHALS - (6) Gear modulus code
WA*jU‘%}ﬂ N A-Large module
AitA: R IMEEL Without A: small module.

EHIR R AEIOERE (HIZ7)
Single row cross roller slewing bearing (HJ series)

. D1
D2 0t DL
d oL o da
n-¢ . 02 BN -
. + il .
[ — \
® T = L] ‘/ —=| =[nd 2 R
| T na%‘ K ES )4713 = % N
% / I’ / n-g| N
‘/ 9 | d
- n- D2
— DL — d F
D D D
15 7 1] 3 1]
Y LR bR R LBK N LFAR) B 58
f ary Mounting hole Structure
Bearing type dimensions diameter dimensions Gear parameters
b ik P Mﬁﬁ'ﬁ
E AL b i 0 P X D d| 0} Dl ‘ D2 ¢ | DL | H ‘ h b Ext gear Int gear igb
Non-gear External gear Internal gear n n3—— m - -
type type type mm mm mm mm mm X 3; Z X Sn‘; Z
o0 A HJW. 20. 625 HJN. 20. 625 - . or - » . 5 |+1.25] 751.9 | 146 |+0.35] 498.8 |101
HJB. 20. 625 o0 6o5A | TN, 20. 6258 ] 20 | 20 | B0 | 685 | 565 | 18 |18 625 ] 68 |12 3 | 60 e o5 S 190 [70. 35] 496.7 [ 84 L0
. ’ HJW. 20. 720 HJN. 20. 720 . - . . 6 |+1.25] 860.3 | 139 |+0. 35| 586.6 | 99 .
HJB. 20. 720 5o 7o0A | TN 20, 7208 ] o20 | 620 | 80 ) 780 ) 660 |18 18| 720 ] 68 | 12) 3 | 60 g mtmRe e T 104 0. 35] 582.3 |74 ] 0
HIB. 30. 820 HJW. 30. 820 HJN. 30. 820 , = 9 on |« o . 6 |+1.25] 980.4 | 159 |+0.35| 664.5 | 112
J HJW. 30. 820A HJN. 30. 820A 940 | 7051 95 | 893 | 749 | 24 | 20| 820 ) 83 11214 ) 70 10 [+0.85] 986.2 | 95 [+0.35 658 67 210
HIB. 30. 880 HJW. 30. 880 HJN. 30. 880 1000 . = on | < oq . ) 8 | +1.0 | 1047.5] 127 |[+0.35| 718.2 | 91 | o«
J HJW. 30. 880A HJN. 30. 880A 760 | 95 1 956 | 800 | 24 |20 | 880 | 83 1214 | 70 10 |+0.85]1046.3 ] 101 [+0.35] 707.9 | 72 230
HJW. 30. 1020 HJN. 30. 1020 1170 | 17 = . Y REY ) ) 8 |+1.25]1219.3] 148 |+0. 35| 830.1 |105
HJB. 30. 1020 HJW. 30. 1020 HJN. 30. 1020 875 | 95 | 11201 930 | 24 | 2211020 80 15 4 | 70 10 |+1.00]1219.2] 118 |+0. 35| 827.8 | 84 300
HIB. 36. 1220 |__HJIW. 36. 1220 HJN. 36. 1220 1365 =l e . . ae | oa | 190 =l 1e 10 |+1.25]1424. 9] 138 |+0. 35| 1027.8 | 104]
J HJW. 36. 1220A HJN. 36. 1220A > | 10751120 | 13101 1130 | 36 | 24 |1220) 1051151 6 | 90 12 [+0.85]|1435.9] 116 |[+0. 35] 1017.3 | 86 150
HIB. 36. 1250 |__HJW. 36. 1250 HJN. 36. 1250 / ’ o ‘ ar | on |105 S I 10 |+0.35] 1443 | 143 |+0.35] 1037 |105| <.
J ? HJW. 36. 1250A HJN. 36. 1250A 1400110901 120 | 1350 | 1150 | 36 | 26 | 1250 105 15| 6 | 90 12 [+0.85]1449.6 | 117 [+0. 35] 1028.8 | 87 920
HIB. 36. 1435 |__HJW. 36. 1435 HJN. 36. 1435 1595 31 53511335 | 36 | 96 11435 T 12 | +1.0 | 1655.5| 134 |[+0. 35| 1221.1 | 103 | .
J HJW. 36. 1435N HJN. 36. 1435N O | 12781120 153511335 | 36 | 26 |1435) 1051151 6 | 90 14 [+0.85]|1661.2 ] 115 [+0. 35] 1214.8 | 88 610
P HJW. 45. 1540 HJN. 45. 1540 ap y - . 10 | oe 115 . ; 12 | +1.4 [ 1780. 8| 144 |+0.35] 1293. 1 [ 109 | -.
HJB. 45. 1540 HJW. 45. 1540N HJN. 45. 1540N 1720 11360 140 11660 | 1420 | 42 | 26 | 15401 1221 18 | 6 | 110 14 | +1.0 | 1791. 1] 124 [+0. 35] 1284.8 | 93 732
- HJW. 45. 1700 HJN. 45. 1700 N o | 14 £Q o | . . ; 14 | +1.0 | 1945.4 | 135 |+0.35] 1452. 7 | 105 | o,
HJB. 45. 1700 HJW. 45. 1700A HJN. 45. 1700A 1875 | 1525 140 | 1815 | 1585 | 42 | 29 | 17001 1221 18 | 6 | 110 16 | +1.0 | 1950. 8 | 118 |+0. 35] 1452.3 | 92 st
HIB. 45. 1880 |__HJW. 45. 1880 HJN. 45. 1880 ’ or | 1a . y . . ) . . = 14 |+1.25]2189. 8| 152 |+0.35] 1592.6 | 115
J 7 HJW. 45. 1880A HJN. 45. 1880A 2100 1665 160 | 2030 | 1740 48 | 32 |1880| 140 ) 20 | 6 | 115 18 | +1.0 | 2194.6| 118 |+0. 35] 1579.9 | 89 1400
HIB. 45. 2115 |__HJW. 45. 2115 HJN. 45. 2115 920 0 | 994 ' ) 2115 140 | ¢ N = | 16 |+1.25]2406.5 | 146 |+0.35] 1804. 1 | 114 | {4
J 7 HJW. 45. 2115A HJN. 45. 2115A 2325 1900 | 160 | 22451 1980 48 | 32 |2115| 140 20 | 6 | 115 20 | 1.0 [2418.4| 117 |+0.35] 1795.4 | 91 1600
HIB. 45. 2370 |__HJW. 45. 2370 HJN. 45. 2370 on . oron | 99 , 9 oo | o |1 18 | +1.25]2307. 3| 146 |+0. 35| 2065.6 | 116 | «
J 7 HJW. 45. 2370A HJN. 45. 2370A 2600 2146 | 180 | 2520 | 2220 48 | 32 23701 158 | 22| 6 | 130 22 | +1.0 [2704.4| 119 |+0. 35| 2040.9 | 94 2100
HIB. 45. 2600 |__HJW. 45. 2600 HJN. 45. 2600 2835 | 236° 2750 | 24¢ oa 58221 6 |1t 18 | +1.25]2941. 7| 159 |+0. 35| 2263.5 | 127 | «
J 7 HJW. 45. 2600 HJN. 45. 2600 283512365 180 1 2750 | 2450 54 | 36 |2600| 158 | 22| 6 | 130 22 | 1.0 [2946.9| 130 |+0. 35| 2260. 8 | 104 2400
HIB. 50. 2820 |__HJW. 50. 2820 HJN. 50. 2820 3085 | 2555 | ¢ : of ) Yy 99 | ¢ | 150 120 |+1.25|3188.4] 155 |+0.35] 2455 |124] -
J HJW. 50. 2820A HJN. 50. 2820A 3085 12555 | 200 13000 2640 | 54 | 36 28201 178 | 2211 6 | 150 25 | +1.0 |3198.4 | 124 [+0.35] 2444.1 | 99 3100
HIB. 50. 3120 |__HJW. 50. 3120 HJN. 50. 3120 : . . 3 929" , 31 99 | 6 | 150 .22 |+1.25]3507. 2] 155 |+0.35] 2722 |125
J HJW. 50. 3120A HJN. 50. 3120A 3400 12840 ) 200 | 331012930 | 54 36 31201 178 | 2211 6 | 150 25 [+1.25]3509.6 | 136 [+0.35] 2719 |[110 1000
HIB. 50. 3580 |__HJW. 50. 3580 HJN. 50. 3580 3920 |3 . 3820 | 3¢ 10 135 ) oo | @ 22 |+1.25|4036. 1] 179 |+0.35]| 3118.4 | 143 »
J HJW. 50. 3580A HJN. 50. 3580A 3920 132401 240 1 3820 | 3340 | 60 | 40 3580 218 ) 22 1 6 | 190 25 | +1.25/4035.6 | 157 [+0.35] 3118.8 | 126 6700
HIB. 50. 4030 |__HJW. 50. 4030 HJN. 50. 4030 4 36 . . 37¢ 20 140301 ¢ o9 | @ 22 |+1.25|4520. 6] 201 |+0. 35| 3558.3 | 163
J HJW. 50. 4030A HJN. 50. 4030A 4370°) 36901 240 | 4270 | 3790 | 66 | 10 |4030) 218 22/} 6 | 190 28 |+1.25| 4522 | 157 [+0.35] 3549 |128 oo
HIB. 50. 4540 |__HJW. 50. 4540 HJN. 50. 4540 ARG . . 4760 | 4 ) 540/ ¢ oo | @ 22 |+1.25| 4983 | 222 |+0. 35| 4042. 2 | 185 N
J HJW. 50. 4540A HJN. 50. 4540A 1860 142102401 4760 4310 ) 72| 404540 218 1 22| 6 | 190 30 [+1.2514992.9 | 162 |+0.35] 4042.4 | 136 8760
LUOYANG-HENGGUAN ¥ BH-E e




EHIM =R

AR T O 52 = (H

CZ

0.

71)

Single row four point contact ball slewing bearing (HS Series)

Q:k*/jt[:%u\\‘ r Ht;\ :‘@)EH?E

%HFIEI,m%ﬁﬂﬂ%fﬁlﬁl%iﬁ(ﬂﬂﬁﬁ/\fﬂ%}?ﬂﬁk L AENEN
HER. MBS RIZE N S, B8R RS2 40

A2 16 AT 0 E%ﬁiﬁu%ﬁl\ WREHRAENL, /N
AL EAHURHZ LA TR AT .

Structural characteristics, performance and scope of
application

The single-row four-point contact spherical slewing bearing is composed of two
seat rings. It has compact structure, light weight, and four-point contact between
steel ball and arc raceway. It can bear axial force, radial force and overturning
moment at the same time. The construction machinery of rotary conveyor,
welding manipulator, small and medium-sized crane and excavator can be

selected.

Du )
c
Dn Du
y Du DL
n— e n_
"V’ Dn n—g de
_ ]
< L &7 \ %%—“
. n1\\5i é ’%m n1§\a\ 5 o -
NN 1 o NI
P ‘/ _ * ‘/_“
n-g n-g) i n-2 dn
I
D ) D
y bR RYT TR N E BT i
~ ~ i
B"l ,l.i!tjfy Boundary Mounting hole Structure Goar frﬁ&ters
earing type dimensions diameter dimensions pé th?i"ﬁ
i sk RLES i
Ktk ik 10t D dn H Du| Dn . ) . DL H b . Ext gear Int gear g
Mon-gear type External gear Internal gear type De 7 de 7
type mm mm mm mm mm X mm X mm
i HSW. 25. 625 HSN. 25. 625 i i T or 5 |+1.25| 751.9 | 146 | +0.35 | 498.8 | 101
SB. 25. 625 25 | 525 5 | 56¢ 3| 62 : 6 100
1158. 25,625 HSW. 25. 625A HSN. 25. 625A 725 | 525 | 80| 685 | 565 | 18118 | 3 625 | 12} 60 e e 99170, 35 [ 496, 7 | 84
i HSW. 25. 720 HSN. 25. 720 : . - | 6 [+1.25] 860.3 [ 139[+0.35] 586.6 | 99
SB. 25. 720 : 820 | 620 | 80 | 780 | 660 | 18|18 |3 | 720 | 12 | 60 2 120
15825 HSW. 25. 720A HSN. 25. 720A 8 [+0.85] 861.1 | 104]+0.35] 582.3 | 74
o - HSH. 30. 820 HSN. 30. 820 i ) 6 |+1.25] 980.4 | 159]+0.35| 664.5 | 112
HSB. 30. 820 940 | 705 | 95 | 893 | 749 |24 | 20| 4 | 820 | 12 | 70 a 210
HSW. 30. 820A HSN. 30. 820A ’ ! " T10[+0.85] 986.2 | 95 |+0.35| 658 | 67
o an (e HSW. 30 (32) .880 | HSN.30 (32) .880 8 | +1.0 [1047.5 | 127[+0.35| 718.2 | 91
HSB. 30 (32) . 880 5 | 95 9 880 7 230
ISV, 30 (32) 880K | WSN. 30 (32) . 8goa | 1000 | 760 | 95| 956 | 800 24120 | 4 121 10 HG770.85 [1046.3 | 101 70,35 | 707.9 | 72
HSW. 30 (32). 1020 HSN.30(32). 1020 | 1170 | e7s | « . N | |8 [+1.25[1219.3 | 148 [+0.35| 830.1 | 105 | .
SB. 30 (32).. 105 95 [1120] 930 [ 24 22| 4 | 1020 | 1z 0 300
HSB. 30(32). 1020 —ey=555y 70208 | TSN, 30 (32) . 1020A 51 > 1 Y 70 [+1.00]1219.2 | 118 +0.35] 827.8 | 84
. o HSW. 30 (40). 1220 HSN. 30 (40). 1220 - ) N i 10 | +1.25 | 1424.9 | 138 | 0. 35 | 1027.8 | 104 | .
HSB. 30 (40) . 1220 ap 51120 [1310]1130|36 [ 24 | 6 | 1220 | 1 90 450
(40) ISV, 30 (40) . 12204 | TSN, 30(40). 1220 | 1365 | 17 7 12 | 70.85 | 1435.9 | 116 <0.35 ] 1017.3 | 86 |
B HSB. 35 (40) . 1250 HSN. 35 (40) . 1250 o el on ) i 10 [ +0.35 | 1443 [ 143]+0.35] 1037 | 105
HSB. 35 (40). 1250 1400 | 1090 | 120 |1350|1150| 36| 26 | 6 | 1250 | 15 | 90 520
°" [ TSB. 35(40). 1250A | TN. 35 (40). 1250A Y 7 12 [+0.85 | 1449.6 | 117 [+0.35 | 1028.8 | 87
oz (g . HSW. 35 (40) . 1435 HSN. 35 (40) . 1435 N U D . i 12 [ +1.0 | 1655.5 | 134 [+0.35 | 1221.1] 103 | .
HSB. 35 (40) . 1435 1595 | 1278 | 120 |1535/1335] 36 | 26 | 6 | 1435 | 17 - 610
HSW. 35 (40). 14354 | HSN. 35 (40). 1435A ! 0|15 0 | % 7477085 [1661.2 | 115]70.35 | 1214.5 | 88
_ HSW. 33(50) 1540 HSN. 35(50) . 1540 . ) 12| +1.4 | 1780.8 | 144 [ +0.35 | 1293.1| 109 |
SB. 35 / 2 / 120 4 1540 | 18 32
HSB. 35 (50). 1540 (50 15108 | TSN 35 (50). 15408 | (20 | 1360 | 140 166011420} 4211 26 | 6 ! WO 0 [T79r. 1 {124 [70.35 [ 1284.8| 93 |
- A%5(50).1700 HSN. 35 (50) . 1700 1 on i N ] 14 | +1.0 | 1945. 4 | 135 | +0.35 | 1452.7 | 105
35(50). 17 ; 51140 [1815]1585] 42 [ 29| 6 | 1700 | 18 | 110 = 844
HSB. 35 (50). 1700 70050y 358 | TSN, 35.60) . 17008 | o7 | 1920 i 16 | +1.0 | 1950.8 | 118 +0.35 ] 1452.3 | 92
. e HSW. 40 (50) . 1800 HSN. 40 (50) . 1880 e | i N ) 14 | +1.25 [ 2189.8 | 152 | +0.35 | 1592.6 | 115
HSB. 40 (50). 1880 2100 | 1665 | 160 [20301740| 48 | 32 | 6 | 1880 | 20 | 115 1400
HSW. 40 (50). 1800A | HSN. 40 (50). 18807 18 | +1.0 | 2194.6 | 118]+0.35] 1579.9 | 89
: S HSW. 40 (50). 2115 HSN. 40 (50). 2115 . . ) o11e 16 | +1.25 | 2406.5 | 146 [ +0.35 | 1804. 1| 114 | . .
HSB. 40 (50). 2115 2325 | 1900 | 160 |2245|1980{ 48 [ 32 | 6 | 2115 | 20 | 115 1600
HSW. 40 (50). 21154 | HSN. 40 (50). 2115A 20 | +1.0 [ 2418.4 | 117 [+0.35 | 1795.4 | 91
A0 (A oan HSW. 40 (60) . 2370 HSN. 40 (60) . 2370 p ‘ o 18 [ +1.25 | 2307.3 | 146 [ 0. 35 [ 2065.6 | 116
HSB. 40 (60) . 2370 26 2146 | 180 2520122201 48|32 | 6 | 2370 | 22 1 2100
HSW. 40 (60). 2370A | HSN. 40 (60). 2370A 00 6| 18025201 2220 ’ 30 00 T1.0 [2704.4 [ 119 70,35 | 2040.9 | 94
< . HSW. 40 (60) . 2600 HSN. 40 (60) . 2600 p 1o o |18 [+1.25 [ 2941. 7 | 159 | +0. 35 | 2263.5 | 127
HSB. 40 (60) . 2600 3 502450 54 2600 | 2 3 2400
TSV, 20 (60) . 26008 | TSN, 40(60) 26008 | 200 | 2369 | 180 275012450/ 541 36 | 6 ) <0 22| 130 =070 [2946.9 [ 130 | 0. 35 | 2260.8 | 104
- . HSW. 50 (60) . 2820 | HSN.50 (60) . 2820 i i 20 | +1.25 | 3188.4 | 155 | +0.35 | 2455 | 124
HSB. 50 (60) . 2820 : 2555 | 200 | 3000 |2640| 54 | 36 | 6 | 2820 | 22 | 150 3400
TSV, 50 (60) . 28208 | TSN, 50 (60) . 28208 | ~0° | 2% | 2 7 2V 95 [ +1.0 | 3198.4 | 124 | +0.35 | 2444.1| 99
<n =0 (ry 2100 | HSW.50 (60) . 3120 | HSN.50 (60) . 3120 1 . 22 | +1.25 | 3507.2 | 155 | +0.35| 2722 | 125
HSB. 50 (6) . 3120 : 3400 | 2840 | 200 |{3310(2930| 54 | 36 | 6 | 3120 | 22 | 150 4000
HSW. 50 (60) . 3120A | HSN. 50 (60) . 3120A ’ % [25 [+1.25 | 3509.6 | 136 +0.35| 2719 | 110
=0 (p0y amen | HSW. 50 (60) . 3580 | HSN.50 (60) . 3580 : . 22 [ +1.25[4036. 1| 179 +0.35 | 3118.4 | 143 | .
HSB. 50 (60) . 3580 3920 | 3240 | 240 |3820(3340{ 60 | 40 | 6 | 3580 | 22 | 190 6700
HSW. 50 (60) . 3580A | HSN. 50 (60) . 3580A 25 | +1.25 | 4035.6 | 157 | +0.35 | 3118.8 | 126 | "
w0 0 | HSW.50 (60) . 4030 | HSN.50 (60) . 4030 B B A e 22 | +1.25 [ 4520.6 | 201 [ +0.35 | 3558.3 | 163 | -
HSB. 50 (6) . 4030 4370 | 3690 | 240 |4270 |37 4 4030 | 22 |1 7700
ISV, 50 (60) . 40307 | TSN, 50 (60) 40308 | >0 | 3690 | 240/ 427013790 66 40 | 6 9 s o1 25| 4522 [157]70.35] 3549 | 128
w0 n =~ | HSW.50 (60) . 4540 | HSN.50 (60) . 4540 A ) 22 | +1.25 | 4983 |222]+0.35 | 4042.2 | 185
HSB. 50 (60) . 4540 9 760 | 4 4 4540 | 2 8760
ISV, 50 (60) _ 15401 | TSN, 50 (60) 45408 | 000 | 4210 240 | 476014310172 ) 40| 6 221 190 I 55 {4992, 9 [ 162 0,35 | 4042, 4 | 136
PR R ERTEA LUOYANG-HENGGUAN




|E|$§§7¥\'> HZE7=
Types and series of slewing bearings Three
JB/T10839-2008 FrifE[nl 4% 2 7k 45 7775 JB/T10839-2008 Standard slewing bearing numbering method

Q w A 1250 32 A G

| I T
F}“‘ Q&ﬁﬂ%,{kﬁ% General level

Classification of precision grade .
G | WE®H

precision level

N

Small module

TR S ARAY
Gear modulus classification code j(f)é'\ﬁ[
Large module

REREAR mm
Rolling body diameter

WIEAHOER nm

Raceway center diameter

GRGE AL AT
Code number of mounting and connection hole type A|B C|D
WEER R | WAME | N Uk
Code for gear transmission type External gear |  Internal gear | No gear
e APt Q: FHEERC T 82 ORFE S: =L
The type of slewing bearing Single-row ball type Crossed rollers type Three-row roller type

B 1L BN (QU) RIVSME RS A FVRIE 0 BAR ) A G DA SMG dn 4Lk, F3E 5 Sl EAE SN L
Explanation: 1. The dimensions of the No gear (QU) series are composed of Internal gear D and External gear dn with the same raceway center diameter, and The plug
position and oil holes are arranged on the outer ring.
2. CHERA AT
The plug position and oil holes are arranged on the outer ring.
A AL SNERIEDGL
Inner and outer rings are light holes.
B: . ANERBIIEIINIREAL, RENT (e fLBRET I EALI 55— )
The base of the inner and outer rings are threaded holes with a depth of T(the mounting hole T at the other end of the hole).
C: AMVERFEMIREAL, WIEDAT, WERDDEIL (LIRS 7L )
The base of outer rings is threaded holes with a depth of T , the inner ring is the light hole (the mounting hole T is at the other end of the hole).
D: WERIEIIRLAL, WENT, SMERIAGIL (e fLIBa Tl fE LI 53— )
The base of inner ring is threaded holes with a depth of T , the outer rings is the light hole (the mounting hole T is at the other end of the hole).
34 @D g5 L It QU gi BTN QU SR
The External gear type (QW) structure diagram, the Internal gear type (QN) structure diagram and the No gear (QU )structure diagram are as follows:

EHIM S EMIATNOAE 2 EA (D2 71)

Single row four point contact ball slewing bearing (Q Series)

Du
[ On _ De L Du
Du ‘ DL
ind p— —m g &
* ——
7 ;i 7
ff |
nt \ B } nt m% = =
- o | 7
\ \ Y
NN L\ . L
I} -9 = dn’ o L o
n WU ¢ | | —
= OL DL LiDin
D D D
44 | 2800. 50 29922604 (2996 [2608|150(2926| 2674 | 66 33 |M30| 56 | 6 14 [122 L8 3078 | 170 1817 | 2502 | 140 1871
2800. 60A |“7° i ' ; o - ' 20 3100 | 154 1904 | 2500 | 126 1857
45| 3150.60 ] . . X 20 3440 | 171 2087 | 2840 | 143 2144
TS0 oA | 3342|2954 3346129581 150|3276| 3024 | 72 33 |[M30| 56 | 6 14 [122 > 51T 156 2139 T2s38 T 130 3T
3150. ; 3
46| 3550.60 1. o N . 20 3840 | 191 2355 | 3240 | 163 2425
— 3742|3354 |3746|3358|150(3676| 3424 | 78 33 |[M30| 56 | 6 14 [122 - — - - -
3550.60A 25 3875 | 154 2500 |3225| 130 2437
47| 299090 4200(3804 [4196[3808|150(|4126| 3874 | 80 33 |M30| 56 | 6 14 [122 22 4312 ] 195 2787|3696 169 2685
4000.60A - o - o - ' 25 4325 | 172 2827 | 3675 | 148 2763
4500.60 25 4825 | 192 3268 | 4175 | 168 3247
8 - 4700[4304 (3316 (2988|150|4626| 4374 | 86 33 |[M30| 56 | 6 14 [122 — = - —
4500.60A 28 4816 | 172 3372 | 4172 | 150 3334

LUOYANG-HENGGUAN ¥ PH - 1E e



L] 5 A &% N Sﬁtr‘ﬁc}t{u‘{e iE B
Bearing type Boundary dimensions Mounting hole diameter dimensions Gear parameters
" Eztiﬁﬁ[ T]!’?ﬁfa‘] Th‘z—(glgh 5%;‘3“’ g:li; Exlernapl i{ge“a‘r type Tnlernl?lﬁggar type
! ’(:)N7 . gear type | gear type H Du Dn n 1}\0!1‘-6 B?g’ Si‘ Num.gl.ér I\Enﬁ?ﬁs — -
| QW QN, QU opmbert n | b x=—0. 5 x=+0.5
e D | an| p | d d> ar | g | hotes De P i | de 7|
weight weight
mm mm mm mm mm mm kg mm kg
1 228809']16‘1 360 | 198 | 360 | 200 | 60 | 328 | 232 | 10 15 |mia| 28| 2 | 10|44 3;15 i:: 19‘): jg 1??;35 ié jz
2 (28 15051 233 | 397 | 235 | 60 | 363 | 267 | 12 15 |mia| 28 | 2 | 10|44 2242801 120 a1 2sn D2 -
8 22018 1435 273 | 437|275 | 60 [ 403 [307 | 12 | 15 |wia| 28 | 2 |10 |4q 20 A085) 131 o
4 A8 480 | 318 | 482 | 320 | 60 | 448 | 352 | 12 15 |wia| 28 | 2 |10 |44 224000 L 10 e =
* Fdd8 530 | 368 | 532 | 370 | 60 | 498 | 402 | 12 15 M| 28 | 2 |10 |44 20 000 L 150 2l 30.5, 190 + %0
6 20201 544 | 354 | 546 | 354 | 70 | 508 | 392 | 12 17 |mi6| 30| 2 | 10|50 —2 2r2 142 o 528 83 o
7 209-20 1 594 | 404 | 596 | 404 | 70 | 558 | 442 | 14 17 |we| 30 | 2 | 10|50 —¢ e L N [
8 |2o0-20 1 654 | 464 | 656 | 468 | 70 | 618 | 502 | 14 17 |wi6| 30 | 2 |10 |50 —3 850 189 AW EEmm e
P 8020 794 | 534 | 726 | 538 | 70 688 |572| 16 | 17 |wi6| 30 | 2 |10 |50 —2 48 | 186 8 o1z 129 4 B84
100201804 | 614 | 806 | 618 | 70 | 768 [ 652 | 18 17 |we| 30 | 2 | 10|50 —2 — TR I RS
M B0 20 894 | 704 | 896 | 708 | 70 | 858 | 742 | 20 17 jwi6| 30 | 2 |10 |50 — ooy —ad 4 ot 1S 10
12 63;29‘2251 734|522 | 738 | 522 | 78 | 694 |566 | 16 | 22 [M20| 36 | 2 |10 |58 —2 o115 1o
13 77110?‘225?\ 814 | 602 | 818 | 602 | 78 | 774 | 646 | 18 17 |m20| 36| 2 | 10|58 g :fj }gj }2; 2:3 — }jﬁ
14 |—90-25 904 | 692 | 908 | 694 | 78 | 864 [736 | 18 | 22 |M20| 36 | 2 | 10|58 —2 a2 150 1 43 1 oal L 1o 1
15 |—90-25 11004 792 |1008| 794 | 78 | 964 836 [ 20 | 22 |M20| 36 | 2 | 10|58 (—o—0d84 130 L 102 T4 91 163
16 1000- 251,104\ 892 |1108| 894 | 78 |1064| 936 | 24 | 22 |mM20| 36 | 2 | 10|58 ——— 4152y 143 [ O
17 11112200.‘225'1 1124|1012 | 1228|1014 78 | 1184|1056| 28 22 |M20| 36 | 2 |10 |58 —>% }jgg o ﬂ; oo
18 88(;)0?'3321 920 | 676 [ 924 | 680 |90 | 874|726 | 18 | 24 |wez|40 | 2 |10|7o—S— 304 121 L 2L 0%z B0 L 190
19 99000?‘3321 1020| 776 [1024| 780 | 90 | 974 | 826 | 20 | 24 |w22| 40| 2 |10 |70 180 }8;3 18; j;g ;jg ?; ji‘;
20 -1900- 321,100\ 876 |1124] 880 | 90 |1074| 926 | 24 | 24 |m22| 40| 2 |10]|70 180 H;’g }T: ;é; :Zé 18045 §23(7)
21 208211940 996 |1244[1000| 90 |1194|1046| 28 | 24 |mM22| 40 | 4 | 10|70 —9—o801—180 1 2T2 L 90 4 95 | 200
22 | A200. 8211370 11261374 | 1130| 90 | 13241176 32 24 |wez| 40 | 4 |10 |70 —0—480. 12 | 302 1070 108 | 294
23 | L00- 3211500\ 1276 | 1524 | 1280| 90 |1474|1326| 36 | 24 |mM22| 40 | 4 | 10|70 —E2 L AO8L 131 | 897 (212} 102 | 333
0201010/ 758 1044 760 [102| 986 |814| 20 | 26 |mM24| 45 [ 4 |12 |80 ) —ioo—9 501 1 700 TIl{ 288
25 | —L000-20_1 1140 858 [1144| 860 [102(1086| 914 | 24 | 26 |M24| 45 | 4 |12 |80 (—o——200 L3 1 336 | 890 Bl | 321
26 L2040 1y960| 978 |1264| 980 [102|1206|1034| 282 | 26 |mM24| 45 | 4 |12 |80 [—o— 4320 13 | 571 | 920 | 93 | 399
27 2002011390 1108 1394|1110 {102| 1336 |1164| 32 26 |M24| 45 | 4 |12 |sof—f0—24801 144 4 396 11060 195 | 588
28 02015401258 | 1544|1260 102| 14861314 36 | 26 |M24| 45 | 4 |12 |80 —a—4098 . 133 | I8 L 188 190 A4
29800 40117401458 1744|1460 102| 1686 [1514) 40 | 26 |m24| 45 | 4 |12 |so —2—4812 1 130 | 028 13924 LT | 509
20800 011940 1658 | 1944|1660 | 1021886 |1714| 44 | 26 |M24| 45 | 4 | 12 | 80 —a—agrot—lao oo 08l | D10
it 22(2)009.440% 2140|1858 | 2144|1960 | 102 | 2086 |1914] 48 26 |M24| 45 | 4 |12 |80 }2 — }2: ;E };;: — Z;Z
32 | L2050 11412{1084|1416{ 1088|124 (1354 1146| 32 | 30 |Me7| 50 | 4 |12 |100|— 241764 122 | 583 10081 55 | 58]
33 |- D0 {1562 1234|1566 | 1238 | 124| 1504 [1206| 36 | 30 |mM27| 50 | 4 | 12 |100— o390 1 005 L1604 98 | O
34 8005017621434 1766 | 1438 | 124| 1704 [1496| 40 | 30 |m27| 50 | 4 | 12 [100—E—e ol T4 18684 15 | T4
35 18005011962 1634|1966 | 1638 [ 124] 1904 |1696| 44 | 30 |w27| 50 | 4 |12 [100—2—204L 15 L 845 L1568 L9 | 794
36 20000 1216218342166 | 1842 |124|2104 (1896 48 | 30 |M27| 50 | 6 | 12 |100—o—taaiot—o 2O L {591
37 |2240- 00194022074 2406 | 2078 | 124| 2344|2136 54 | 30 |m27| 50 | 6 |12 [100—o—23801 14 1 1020 1984, 125 1044
38 |-2500. 5019667 | 2334 | 2666 2342 | 1242604 |2396| 60 | 30 |M27| 50 | 6 | 12 [100—i3— 210y 152 | LITL 2250} 120 | 1132
30 | 2800- 50199622634 |2966 | 2638| 1242004 |2696| 66 | 30 |M27| 50 | 6 | 12 100 —33—-29001 109 1 1593 1 2588 72 | 50L
10 315050133151 2984 3316|2988 | 1243254 |3046| 72 | 30 |M27| 50 | 6 | 12 100 —3—-32021 188 1 1535 | 2898 162 | L50.
11 2000-50 1919618042196 | 1808 |150| 2126|1874 48 | 33 |M30| 56 | 6 | 14 [122—5 {2304 127 L 51 (17104 96 | 134
a2 |22280- 80194362044 2436|2048 | 150 | 2366 |2114| 54 | 33 |M30| 56 | 6 | 14 [122(— 020981 110 1 1078 1 9A1 109 | 530
13 |—2800-80_19606 | 2304 2696 2308|150 | 2626 |2374| 60 | 33 |M30| 56 | 6 | 14 |122(— 0218014 10T 2211, 124 | 162)

Vi B

LUOYANG-HENGGUAN




[01%% 2 ER 2 BV Z2 71

Types and series of slewing bearings Four

AR BT R R AR S 7. TS, SRR A B 4L

This designation method follows the previous China national bearing standard.It consists of a prefix code,basic code and suffix code.

AT EMRS (1) Prefix Code
A b RORE B 2540 73 NG, B, D=2, — RSB RGAT DAASFRHE
. normaiiy shown.
QREANRE (2) Basic Code

HAT d-LAp R AR, B ARRIE TR

referred to in the table below

The precision grade of slewing bearing has three grades:Grade G,Grade
E, Grade D,Grade G is generally the standard specification and is not

The basic code consists of 7 numbers,the explanation for these numbers are

AR N AEd (mm (NP RES

) Samples

Inner diameter d(mm) Designation method AR " %;’—_ Cmm)
i Bearing type Inner diameter(mm)

1. WEBRLASZ B R 79764 320
Exprcssud by the quomm of d1v1d1ng mncr diameter b by 5. o . - -

<500 2. AR/ NEEREE N RERS BRI, 8RR EIRR R NAE RN 797/496 496
When the inner diameter is decimal or could not be divided exactly by 5,it will be expressed by a . B
fraction,and the denominator directly indicates the dimension of inner diameter 797/488. 5 488.5

AHFER SREEERNERS

=500 HABEOR o B AR AR _ o - _ _ 797/800 800

Expressed by fraction,and the denominator directly indicates the dimension of inner diameter

O BT  FeR Ak H A 5 BT R

(3) Suffix Code: Common suffix codes used in slewing bearing designations are shown in the table below

75 Code € X Definition
o ; GRRE AR 5CrMnMo:
G. G2 In which:G indicates the material of bearing ring is 5SCrMnMo:
e G2E B MR A50Mn: TS E..%HﬁJxZCIMO
G2 indicates the material of bearing rings is 50Mn:the material of bearing ring is 42CrMo, when there is no code.
KL Ko A2 i S R 2 5
’ ’ o Classification for nonstandard structure
" BB TR
Requirement for friction moment
i HIKBARA AL
Y, YL, ¥2. .. Changes in bearing technique
ik E(0)1792/885 G2 K FR: Example:E(0) 1792/885 G2 K
E 15 S 2, E%: E—Precision grade .Grade E.
— e E R, o,%ﬁlj B H 0—Width series, series 0 .0 (could be omitted)

?*T’J’*’ch At stas SUBTREV T4l
97

2— E&?@J 2?%
885 RN 1%: 885mm:

17— Structural design ,cross cylindrical roller bearing with
external gear.

9—Type, category 9.

2—Diameter series ,series 2.

885—Inner diameter: 885mm

G2—Ht 7|‘Jr

K— iR AR M 25 5

R 50Mn ¢

EHIR R RFENOERE (797F271)

Single row cross roller slewing bearing (797 series)

G2—Material, IR and OR manufactured from 50Mn
K—Bearing structure differs from the standard structure.

D1 Da D1
dl D d1
n2-42 da 03 D2
ANGS = e R ‘ 4
: | nl-¢1
—| =| nd N > - = ,‘/ = .x.\h
N n e R
| | \/ = _ \\ e ?n = o= N
nl--¢1 d x ﬁ
~
|l b h2-97) 4
D3 —dl —_— n2-¢2 03
D D
5 - v " 1T
LR bR TRE T R i 5%
Bearing type dimensions Mounting hole diameter Structure dimensions Gear parameters Mﬁﬁi
- D d i D1 D2 1 2| D3 ar | H1 3 da b ass
Internlﬁﬁggr t ‘ ‘ ‘ nl | nl . . ‘ ‘ ‘ n3 . - z X ke
g ype mm mm mm | mm mm mm m mm mm
2797/760G2 1000 760 95 956 800 24 24| 20 20 878 882 82 15 4 M10X1 8 718 91 70 0.35 206
2797/870G2 1180 | 870 115 | 1125 | 920 18 [ 18] 26 26 1023 1027 [ 100 [ 15 | 2 M8x1 8 828.8 105 90 0.3 374
2797/875G2 1170 | 875 95 1120 | 930 24 | 24| 22 22 1018 1022 82 [ 10 | 4 M10X1 8 830 105 70 0. 35 297
2797/955G2 1200 | 955 90 1160 | 1000 | 36 | 18| 18 18 1088 1092 76 [ 10 ] 4 M8x1 8 908 115 72 0.3 245
2797/1010G2 1200 | 1010 90 1160 | 1041 36 | 20| 22 | M20 1088 1092 76 10] 2 M8x1 10 962 97 72 0.6 199
2797/1010GK 1200 | 1010 90 1160 | 1041 36 | 20| 22 M20 1088 1092 76 10 | 2 M8x1 10 962 97 72 0.6 199
1278/2797G2 1595 | 1278 | 120 | 1535 | 1335 | 36 [ 36 | 26 26 1428 1432 | 106 | 14 | 6 M10X1 12 1221 103 90 0.35 585
2797/1400G2K 1715 | 1400 | 110 | 1660 | 1460 | 40 [40 | 26 | M24 1558 1562 95 [ 151 4 M10X1 10 1330 135 90 0 587
2797/2000G2 2420 | 200 160 2350 | 2070 | 48 |48 | 33 M30 2207 2213 | 140 1 20 | 6 M10X1 14 1913 138 120 0.3 1607
2797/2240G 2670 | 2240 | 160 | 2600 | 2320 | 54 | 54| 35 | M36 2457 2463 | 140 | 20 | 6 |M12X1.25| 16 2154.5 136 120 0.3 1798
3-940G 2800 | 2300 | 208 | 2710 | 2390 | 42 |48 | 38 | M36 2535 2545 | 180 | 18 | 6 M10X1 20 | 2162.75 110 175 0 2756
2797/2680G 3325 | 2680 300 3242 | 2754 32 32| 33 33 2996 3000 | 270 [ 30 | 4 | M16X1.5 | 16 2592 164 180 0 6320
2797/2680GY 3325 | 2680 | 300 | 3242 | 2754 | 48 |48 | 33 33 2996 3000 | 270 | 30 | 4 | MI6X1.5| 16 2592 164 180 0 6320
2797/2680GK 3325 | 2680 | 300 | 3242 | 2754 | 32 | 32| 33 33 2996 3000 | 270 | 30 | 4 | MI6X1.5| 16 2592 164 180 0 6641
3-943G2 3850 | 3322 200 3720 | 3420 | 60 | 60 | 45 45 3568 3572 | 180 | 20 | 12 71/4in| 22 3206 147 158 | 0.35 4520
LUOYANG-HENGGUAN ¥ VA




8RR T BRE T BT T
Bearing type dimensions Mounting hole diameter Structure dimensions Gear parameters ik
Mass
b Bist D [ a [ H[ pi] m 1] 92 p3 [ at [H] n b3 Da , b ke
External geartype mm mm ol o2 mm mm mm s mm " mm ’ mm *

1791/885 1056 | 885 | 83 | 1032 | 925 | 16 16 | M16 | 17.5 | 986 988 | 75 | 12.5 8 1096 135 | 62.5 0 172
E1791/885 1056 | 885 | 83 | 1032 | 925 | 16 16 | M16 | 17.5] 986 988 | 75 | 12.5 8 1096 135 | 62.5 0 172
E1791/885K 1056 | 885 | 83 | 1032 | 925 | 16 16 | M16 | 17.5 | 986 988 | 75 | 12.5 |3 M10X1 8 1096 135 | 62.5 0 172
1797/885G 1150 | 885 [115] 1115 | 935 | 16 16 18 18 1023 | 1027 | 100 | 15 |4 M8x1 5 1180 234 80 0 330
1797/1100G 1415 | 1100 | 115] 1345 | 1160 | 24 18 21 21 1253 | 1255 | 100 | 15 | 4 | MI12XI. 25 6 1452 240 84 0 497
1798/1100G2 1400 | 1100 | 140| 1352 | 1160 | 26 26 24 26 1260 | 1264 | 126 | 21 1 M10X1 14 1 1477.28 | 104 90 | -0.24 | 642

1798/1100G2K 1400 | 1100 | 145] 1352 | 1160 | 26 26 24 26 1260 | 1264 | 131 | 26 | 4 M10X1 14 | 1477.28 | 104 90 | -0.24 | 644
1250/1797G2 1548 | 1250 [ 148 1512 | 1297 | 16 16 25 25 1403 | 1407 [ 122 | 20 |4 M10X1 12 1608 132 100 0 661
1797/1278G2 1595 | 1278 | 120 | 1535 | 1335 | 36 36 26 26 1428 | 1432 | 105| 15 | 4 M10X1 12 | 1655.46 | 134 90 1.15 597
1797/1300G2 1705 | 1300 | 165] 1644 | 1360 | 24 24 32 32 1504 | 1508 | 134 | 31 | 4 M10X1 14 | 1783.6 | 126 85 0.3 1023
1792/1400G 1715 | 1400 [ 110| 1660 | 1460 | 42 42 26 26 1558 | 1562 | 95 17 [ 4| M12X1.25 | 12 | 1780.8 | 147 78 0.3 597
1792/1400G2 1715 | 1400 | 110 | 1660 | 1460 | 42 42 26 26 1558 | 1562 | 95 17 [ 4 | M12X1.25 | 12 | 1881.6 | 147 78 0.3 597

1792/1400G2K 1715 | 1400 [ 110| 1660 | 1460 | 42 42 26 26 1558 | 1562 | 95 17 [ 4| M12X1.25 | 12 | 1780.8 | 147 78 -0.3 597
1797/1460G2 1800 | 1460 | 125] 1735 | 1525 | 32 36 26 26 1633 | 1637 | 110 | 10 | 4 M10X1 14 | 1881.6 | 133 95 0. 3- 828

1797/1460G2K 1460 | 125] 1735 | 1525 | 32 36 26 26 1633 | 1637 [ 110| 10 |4 M10X1 10 1880 186 115 0 845
1797/1916G2 1916 | 150 | 2245 | 1980 | 42 42 34 34 2113 | 2117 [ 130 15 |3 M10X1 18 | 2415.6 | 133 135 | -0.4 | 1597
1797/2100G2 2600 | 2100 | 180 | 2540 | 2200 | 48 48 32 32 2368 | 2372 | 158 | 22 |8 M10X1 18 2700 148 130 0 2395

1797/2100G2K 2600 | 2100 | 180 | 2540 | 2200 | 48 48 32 32 2368 | 2372 | 158 | 22 |8 M10X1 18 2700 148 130 0 2392
1797/2460G2 2460 | 220 | 2930 | 2560 | 30 30 33 34 2785 185] 20 |30 MI2X1.25 | 14 3108 220 200 0 4091

1797/2460G2U 2460 | 220 | 2930 | 2560 | 30 30 33 34 2745 | 2747 [185] 20 |30| MI2X1.25 | 14 3108 220 200 0 4091

1797/2460G2K 2460 | 220 | 2930 | 2560 | 30 30 33 34 2875 185| 35 |15| 7ZGl/4in 14 3108 220 200 0 4091

1797/2460G2K1 2460 | 220 | 2930 | 2560 | 30 30 33 34 2875 185| 35 |30| ZGl/4in 14 3108 220 200 0 4091
1797/2500G2 2500 ] 210 | 2990 | 2630 | 36 36 37 37 2818 | 2822 200 10 |12] MI4X1.5 25 3250 128 200 0 4597
1797,/2500K 2920 | 2500 | 260 | 3060 | 2622 | 36 36 40 40 2949 | 2916 | 240 | 60 |36] ZGl/4in 18 3258 179 190 0 5407

1797/2500G2K1 2920 | 2500 | 260 | 3060 | 2622 | 36 36 40 40 2949 | 2916 [240] 60 |36] ZGl/4in 18 3258 179 190 0 5407
1797/2600G 2600 | 200 | 3050 | 2700 | 60 60 35 35 2868 | 2872 | 180 20 | 6 | MI2X1.25 | 20 | 3232.8 | 160 180 | 0. 18 | 3936
1797/2600G2 2600 | 200 | 3050 | 2700 | 60 60 35 35 2868 | 2872 | 180 | 20 | 6 | ZGl/4in 20 | 3232.8 | 160 180 0.18 | 3936

1797/260062K 2600 | 200 | 3050 | 2700 | 60 60 35 35 2868 | 2872 | 180 20 | 4 14 20 | 3232.8 | 160 180 | 0. 18 | 3936

1797/2600G2K1 2600 | 200 | 3050 | 2700 | 60 60 35 35 2868 | 2872 180 20 |8 M10X1 20 | 3232.8 | 160 180 | -0.18 | 3936
1797/2635G 3332 | 2635 | 270 | 3240 | 2755 | 36 36 42 42 2998 | 3002 | 240 | 45 | 6 | MI2X1.25 | 20 3440 170 200 0 5937
1797/26356G 3332 | 2635 | 270 | 3240 | 2755 | 36 36 42 42 2998 | 3002 [225| 30 12| 7Gl/4in | 20 3440 170 200 0 5937
1797/3230G 3970 | 3230 | 240 | 3820 | 3350 | 52 54 37 37 3578 | 3582 [220] 20 |9 | MI2X1.25 | 25 4100 162 200 0 7612
1797/3230GY 3970 | 3230 | 240 | 3820 | 3380 | 52 36 37 37 3578 | 3582 [220 | 20 |4 | MI2X1.25 | 25 4100 162 200 0 7612
1797/3230G2 3970 | 3230 | 240 | 3820 | 3350 | 52 54 37 37 3578 | 3582 [220 ] 20 |9 | MI2X1.25 | 25 4100 162 200 0 7613

1797/3230G2K 3970 | 3230 | 240 | 3820 | 3350 | 52 54 37 37 3578 | 35682 220 20 |8 14 25 4100 162 200 0 7613

1797/3230G2K2 3970 | 3230 | 240 | 3820 | 3350 | 52 54 37 37 3578 | 3582 [220 | 20 |18 MI2X1.25 | 22 4092 184 200 0 7804

1797/3230G2K3 3940 | 3230 | 240 | 3820 | 3350 | 52 54 37 37 3578 | 3582 1220 20 |9 | MI2X1.25 | 20 4080 202 200 0 7302

1797/3230G2Y 3970 | 3230 | 240 | 3820 | 3380 | 52 36 37 37 3578 | 3582 [220 | 20 |4 | MI2X1.25 | 25 4100 162 200 0 7613

1797/3230G2Y2 3970 | 3230 | 240 | 3820 | 3380 | 52 36 37 37 3578 | 3582 [220 | 20 | 4 | MI2X1.25 | 25 4100 162 200 0 7613

1797/323062Y3 3230 | 240 | 3820 | 3380 | 52 36 37 37 3578 | 3582 [220 | 20 |4 | MI14X1.5 25 4100 162 220 0 7686

1797/3230GK4 3970 | 3230 | 240 | 3820 | 3380 | 52 68 37 37 3578 | 3582 | 220 20 |18] MI4X1.5 25 4100 162 200 0 7613

1797/3230GK5 3970 | 3230 | 240 | 3820 | 3350 | 52 54 37 37 3578 | 3582 [220 | 20 |4 | MI2X1.25 | 25 4100 162 200 0 7613

1797/3230G2Y3K 3230 | 240 | 3820 | 3380 | 52 36 37 37 3578 | 3582 [220 | 20 | 4 | MI2X1.25 | 25 4100 162 220 0 7686
1797/3760G 4220 | 3760 | 240 | 4160 | 3840 | 48 48 32 32 3996 | 4004 | 210 | 55 |4 | MI4X1.5 14 4326 307 135 0 4396
1797/4250G 4940 | 4250 [ 250 | 4840 | 4350 | 72 72 48 48 4598 | 4602 [225| 25 |9 | MI6X1.5 30 5082 168 200 | 0.3 | 8654
N k%5 bR RT BRE T & BRT
Bearing type Boundary dimensions Mounting hole diameter Structure dimensions Ji e
Mass
Kkt p [ a [ D1 D2 ) , et [e2] 03 [ at [ u][ n , b3 ke
Non-gear type mm mn ! ! mm mm i ! i
79764 550 320 85 515 365 12 8 17 18 438 442 75 10 - - 85. 6
797/600G2 900 600 125 848 690 30 29 26 M24 750 754 | 105 15 3 M10X1 246
797/670 907 670 85 870 730 12 8 M16 18 808 812 75 10 - - 170
700/797G 1000 700 140 940 770 24 24 M20 22 879 882 | 130 20 4 M10X1 370
797/845G2 1150 845 130 1100 895 24 24 22 22 1024 | 1030 | 105 10 6 M6 393
797/870G 1180 870 115 1125 920 18 18 28 28 1023 | 1027 | 100 15 2 M8x1 355
870/787K 1180 870 115 1125 920 18 18 28 28 1023 | 1027 | 100 15 2 M10X1 355
870/787G2K1 1180 870 115 1125 920 18 18 28 28 1023 | 1027 | 100 15 2 M10X1 355
797/962G2 1200 962 90 - - . = -—— | — [ 1088 | 1092 | 76 10 = — 224
792/1000G2 1270 1000 100 1220 1050 36 36 19 19 1132 | 1138 | 85 15 4 M10X1 303
792/1000G2K 1270 1000 100 1220 1050 36 36 19 19 1132 | 1138 | 85 15 3 9 303
792/1000G2K1 1270 1000 100 1220 1050 36 36 19 19 1132 | 1138 | 85 15 - - 303
792/1000G2K2 1270 1000 100 1220 1050 36 36 19 19 1132 | 1138 | 85 15 303
797/106062 1400 1060 120 1248 | 1252 | 120 596
1200/797G2 1520 1200 90 1356 | 1364 | 90 504
792/1250G2 1700 1250 155 1650 1330 24 24 26 26 1446 | 1450 | 140 10 6 M10X1 1103
797/1250G2 1608 1250 148 1512 1297 16 16 25 25 1403 | 1047 | 128 26 4 M10X1 743
797/1250G2K 1608 1250 148 1512 1297 16 16 25 25 1403 | 1047 | 128 26 4 M10X1 717
797/1278G2K 1660 1278 120 1535 1335 18 18 26 26 1428 | 1432 | 105 15 4 M10X1 589
797/1320G2 1715 1320 134 1337 1163 40 26 1503 | 1509 958
797/1370G 1840 1370 160 1770 1430 30 24 28 28 1598 | 1602 | 140 10 4 M10X1 1213
797/1380G2 1700 1380 145 1650 1440 24 24 27 27 1568 | 1574 | 140 5 6 M10X1 746
3-944G2 1680 1412 170 1460 24 18 1544 | 1548 | 120 25 2 M10X1 725
3-944G2K 1680 1412 170 1460 24 18 1544 | 1548 | 120 25 2 M10X1 723
3-944G2K1 1680 1412 185 1460 24 18 1544 | 1548 | 120 25 2 M12X1. 25 759
797/1600G 2140 1600 145 1940 1710 48 48 26 26 1828 | 1832 | 135 10 4 M10X1 1357
797/1776G2 2210 1776 150 2105 1840 36 36 26 26 1968 | 1972 | 135 15 1 M10X1 1244
797/1860G2 2320 1860 151 2245 1980 42 42 33 33 2113 | 2117 | 150 10 6 M10X1 1772
797%191662 2320 1916 150 2245 1980 42 42 34 34 2113 | 2117 | 130 20 3 M10X1 1214
797/2190G 2860 2190 300 2800 2270 36 36 32 32 2530 | 2550 | 260 40 12 8 4797
797/2500G2 2980 2500 180 2910 2590 48 48 33 33 2739 | 2743 | 170 10 6 M16X1. 5 2913
792/2800G 3310 2800 190 3220 2890 60 60 39 39 3050 | 3060 | 165 25 2 M10X1 2864

& FH-1E LUOYANG-HENGGUAN



